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FOREWORD

One welcomes the publication of this series of textbooks as part of the
Primary Education Improvement Project funded by the Inter-Amierican
Development Bank and the Government of Guyana.

This series of texts has been long in planning, writing and producing.
In the process however, many Guyanese have developed skills in
textbook writing and publication, This will serve Education well in the
future,

We congratulate all those responsible for the production of these texts.
They have done a good job, Guyanese children at the Primary level,
and, indeed, the socicty as a whole, will be the beneficiaries of their
labour.

Thanks to the Inter-American Development Bank for its financial support.
Primary Education in Guyana will benefit considerably with the availability
of relevant reading material.

Dale A. Bisnauth
Senior Minister of Education
and Cultoral Development



PREFACE

I'hear and | fonget
1 see and | remember
I D¢ and ¥ understand

A Chissens Froverh

Let's Do Mathermatics is part of the Easy Path serics, 8 GOGADB
Primary Education Improvement Project.

The success of this project hinges 1o a great extent on the commitment and
dedication of the writing team and the commiteee, both of which comprise
experienced Primary School teachers; lecturers of the Cyril Potter College
of Edueation and the University of Guyana; Curriculum Writers and
Officers of the Ministry of Education.

This series cuters for the requirements of the Primary Schools’ Curriculum
in Guyana and attempis 1o provide teschers and pupils with a clearer
understanding of the opics/conceps listed. 1t comprises pupils’ books for
six (6) bevels, sccompanied by Teachers' Manuals and ts designed 1o fosier
greater inleves! in the leaming and teaching of Mathemaiics.

Al gach level, the book is organized inio thirty (30) units which suggpest

8 year's work. There are six (6) “Let us look back’ pages in each level.
These are designed for the revision of concepts previously taught.

The resulis of these must therefore be carcfully analysized snd used 1o the
pupils’ advantage. Care should be txken 1o ensure that each concept is fally
accomplished before atlempting a hgher level concept.

A deliberate attermpt is made to present the vears” work in sequence,

The emphasis throughout the course is o *hands on® approach. Grem care
huss Been tnken o ensure thal the books are simple to follow and are relaied
to the likely experiences of the pupils.

WHY MATHEMATICS?
5o that recipes may be doubled
meals may be ordered
fmd-'ﬂymhm
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UNIT 1 NUMBERS

Read the numerals: 1768, 3584, 8026, 9145
These are all four-digit numerals.

Look at the abacus.

What is the mumeral shown on the abacus?

It is 9999 - nine thousand, nine hundred ninety nine.
Addl+tn999':

10 000

How many digits are there in the new numeml?
10} 000 b5 read ten thousand.

10 000 is & S-digit numeral.

The smallest S-digit numeral is 10 000

Look at the Place Value Chart.

Examine the place value of cach digit in the numeral, 12 432

Begin to look at the numerals from the left.

The numernl 12 432 is read as twelve thousand, four hundred thiry-two.

Exerelse A
1. Write the names for these numerals:

14 628; 42 375; 19 136; 53 290; 20 T91; 60 505

Hundreds of Thousands
Look at the tally chart.
Tens of
Thousands | Hundreds Tens Ones
JHHE L0003 DRI | B 1100 | DD (3 1IN




What is the numeral shown on the ally chan?
99 999 . ninety-nine thousand, nine hundred ninety-nine.

" Wow! 99999 is the largest

‘_‘—\k S-digit numeral.

One more than 99 999 js 100 000,
1000 00§15 read a8 - one hundred thousane.
It is a G-digit numernl

Remember
Whenever there are five or more
digits in any numeral, the digits may be
grouped into threes to show the thousands
and millions e.g. 34 726; 190 251; | 402 345

Look at the numeral 28 756. The place value of the 2 is 10 000,

What is the value of the &; 7; 3; 6 in the numeral?

If we expand this numecral 28 756, this is what it will look like:
20 DO + X000 + T00 + 50 + 6

Expand 392 543 and write the value of each digit in the numeral

Exercise B
. Write in words: 2. Write expanded numerals for:
(a) 40 005 {(a) 64736
(b) 56139 (b} El017
{c) 297 443 fc) 314470
3, What is the place value of each digit in bold type?
(a) 48 271 (b) 79352  (c)53139  (d) 389 236
Ordering Numbers
@ 7 b;ﬁ,_!_T1uw ¢
| : -
p$  EEi:il)

Read the numeral on each abacus.
Wriie the numerals.
Which abacus shows (a) the smallest numeral? (b) the largest numeral?

2



We can order numbers from the smallest to the
largest or from the largest to the smallest.

Exercise C

1.  Order these numerals from smallest to largest:
(a) 29 364, 87 521, QB64, 140 678
(b) 34 762, 110 684, 7689, 204 546
{c) B6 094, 150 025, 263 028, T3 844

Comparing Numbers

Here are the symbols used for comparing numbers,

e [ e | [

Look at these comparisons. Read them:

(a) 53300 > 5218 (b)4014 < 14014 () 210416=210416

2. Compare these. Use > < or=:

(a)7438 [ 1623 (c)54342 [ 1 54342
192751 15169 (d9s2se [ 172349
Number Sequences
=ttt
1000 100 120 130 150 160 170 160 170 180 1940
Look at the number line:

(a) Begin at 100, move three spaces forward: you will find that the numeral
100 is increased by 10 each time.

(b} Begin at 190, move three spaces backwards; you will find that the numeral
190 is decreased by 10 each time.

[ Wum“ﬁmnumbumqumabylﬁﬁngnrmhm:ﬁug]

the same quantity. Look for the pattem.

Follow the pattern,

Exercise D

Complete the sequences:
(ayio, 12, 14, , , , (c}131, 141, 151, , ..
(b)25. 28 31,, ., ., (d) 250, 280, 310, ., , .



Odd and Even Numbers

Even numbers have 0, 2, 4, 6 or 8 in the ones place,
Odd numbers have 1, 3, 5, 7 or 9 in the ones place.

Any whole number when
multiplied by 2 gives an even
nimber.

When one is added to an
even number, we got an

odd number.

Exercise E
1 Sav which of these are odd or even:
(a) 826, 72, 287, 55007, 481 (b) 753, 9000, 444, T8, 396

2 Use Odd or Even to complete these:

(a) An odd number plus 1 isan ... number.
(b) An even number plus an even number is &0 oo number.
{e) An odd number plus an even number 8 an ..o .. number.
(d) An even number plus 1 is a0 oivicinin number,

REVIEW

L Write in words:

(2) 17023  (b)S3T09  (ep 132911 (d)4D516

2 Write numerals for:

{(a) Twelve thousand forty-seven.
(b} Thirty-thousand ninety-three,
(e) Seventy-four thousand three hundred seventeen.

3. Compare these using >, < or =:
(ay11004 C_J11040 (by36700 136070 (c)95 119195119

4 Use the digits 7, 3, 6,9, 1, 5 to write the
() smallest 6-digit numeral (b) largest 6-digit numeral,

5. Complete the sequences:

(8) 235 35, 455, 3565, , . .
(b) 1309, 1109, 909, 709, , , .,

4



UNIT2 GEOMETRY

Solids
Rishi has a match box. He examines it by rubbing his finger
along the edges, surfaces and vertices.

Use a match box. Find out how many edges, surfaces and vertices it has.

Exercise A
1. Here are some solids.
Examine them and record the number of edpes, surfaces and vertices on each.

L IR

Maich the solids with the properties:

{a) four vertices iE !
(b) three edpes -
(e} six surfnces | ! 1

: Copy and complete:

)

Number of
Solid Edges | Vertices | Surfiaces

s
&




Nets of Solids

Exercise B
1. u) Draw these nets.

b) Cut out and fold along the dotted lines.
¢} Name the solid made from each net.

............. AN - :
e i e &) i

2 Lise the nets you have made to make models of solids.

REVIEW

1. Collect a variety of solids and identify the edges, surfaces and vertices.
Display these in your classroom.

2 Use solids such as boxes of different shapes and sizes to make other solids.



UNIT3 FRACTIONS

Fractional Parts of Sets
iﬁﬁl:-mnnnmm. o .. °, : :
% of the set is black. The others are white. ®g ® ¢ ®
How many are black? ® . 4 o
Dan and Suzette worked to find out
o000 0OOGOOO® 2
e0cecooe® 47 Tom
There are 9 black marbles :i
So %uf]!l
= 3 % ¥ —9black marbles

Divide 18 by 2 because two halves
make a whole, There are 9 black
marh]es,

We can use fractions o
tell about parts of a set.

We can find how many are there in
fractional parts of a set by dividing and

multiplying.
Exercise A
1. Look at these:
{a)  The traffic lights are red, amber and green.

(b)

(i

What fraction of the tmffic lights is : red? amber? green?
niot red? not amber? not green?

Molly cuts a square piece of fudge into 24 equal pieces.
If she shares 7 pieces to us, wrile the fractions to show:
(1) What part is shared? (ii) What part is left?

Marie gets $500 pocket money cach day. She spends $300 each day,
Write fractions to show the money spent and money lefi;
{i) at the end of | day. (ii) at the end of 1 week.



Fractions are used in almost everything we do
2. Look at these:

[SALE!
1 of Price off

| 10

| SAVE 5100.
S

Whrite all the fractions you can about each picture
Tell your class other situations in which
fractions are used in everyday life

Here is another example. 15 fruits are in & basket

3 [
— gre mangoes, — arc hananas,

|

¥

& Bt s O 15 15 s s
2
1y are limes
3. Choose ONE of these situalions
Write a5 many fractions as you can about it
(a) 12 children in the park. (d) 4 books on a shelf.
(b} & pencils on u desk. (e} 10 sweets in ajar.
{¢) 8 wbs of ice-cream in a freezer
Equivalent Fractions
I. Use a large sheet of paper.
Fold it to show halves Fold it again so Fold it & third
Shade one half. that it shows four a0 that it shows
eqjual parts. eight equal parts.

1 IS =

How many parts are shaded in each? Into how many parts is each divided?
What remains the same about the three pictures?

What is different?

Write the fraction for the shaded part in each




Try folding the paper again and again. Name the shaded part each time.

Is the shaded parl bigger or smaller than % 7 Give reasons for your anwer.

2 Marie and Jenny tossed 6 coins.
3 coins turned up heads. 3 coins turned up tails.

3 out of 6 coins turmed 1 out of every 2 coins
up heads, So - of the turned up heads.
coins are heads. So -% of the coins are heads.

HO®O®O
000

Look at the coins that show heads.
Which fraction describes the set of coins that shows heads.

3. Look at the number lines.

P e e — MR I R [ R L
a 1 2 3 4 5 &£ 1 8 2 10 0 1213 14 15 16
16 16 16 6 16 16 16 16 16 16 16 16 16 16 16 16 16

oiun

Marie makes | jump and stands on

Jenny makes | jump and stands on :—g.

When fractions name the same quantity
they are called equivalent fractions,




Examine the fractions %and 3

10
16

Take a closer look at the number lines.

What must be done to change 2 1o

=

3 2
g & 1

oL

5 10,
16 °
10

16

Try the same for changing %m% 1o :;*

memmmif% m:—g are equivalent.

Find their cross products.

To find their cross products we “cross multiply’

the numerators and denominators, if the products are the same,

o |

the fractions are equivalent.
Exercise B
1. Copy and complete:
We know We write We think
S .l Y
5 and 3 e 5= 3 and 3 name
equivalent the same number.




3. Write 3 equivalent fractions for each.

1 2 1
{a) 5 (b} 3 (ch i
Comparing Fractions
Study the fraction chart
The bars are the same sire.
Find all the fractions that
name one half.

L] et
thirds
L st

h%mummm%?s-ym.

I8 it true to say i%= % T Say why.

Exercise C
B Use =, < or = to comparc thesc:

5 | 5 I 3
(a) EDE (b) EIDE (c) i[:]
3 4 4 2 1] |
td;iDE {e}iDI in EDE
REVIEW

1. Write the fraction for the shaded part of each:

2. Copyand drw a circle sround the fraction which is equivalent to the

first in ench set.
4,36 68 1.2 6 41 2,33 42
@W3i?ponrnis Mg 83 ©3*3 555



UNIT4  PLANE SHAPES

Properties of Plane Shapes
Here are some shapes.

AN=9@

tiangle  square  rectangle

Exercise A
1. Copy and compleie:

Name MNumbser of |
Plane shapes from Solids

Look at these pictures.

S~

How many plane shapes can you see in each?
Name the plane shapes which make up each picture,
How many angles and vertices are there in each?

12



Exercise B
L. Collect solids such as cubes, cuboids, cones, cylinders and spheres.
Name the different plane shapes you find on each.

Trace around the edges of cach surface,
Name the shape.
List the number of sides and angles on each traced shape.
Closed And Open Shapes
Look at these shapes:
A ml @
N
Clomed Open Closed Closed  (ypen Closed Open
Whﬂduymmﬂulbmﬂllmrﬂ.’m?

L. Use pieces of string. Try to make each of the above shapes.
Group them as open shapes and closed shapes.

2 Here are three pictures; a bird and two cages.
Into which cage will he be able to enter;
(a) more freely?  (b) with difficulty?

Ciive rensons for your answers,

4 [

i Here are some open shapes.
Jnhmmshpﬂlnnku

i
S —

O o Th




Inside, Outside, On

Look at these

Wrile inside, outside or on o complete these

{a) The man = standing his home
(b) The ant is crawhng the bread
{e) The roach s the bottle

REVIEW
[ (3) Draw four closed, plane shapes. Below each, write the name of the shape.
(b) Dvaw three open, plane shapes

. Look at these pictuncs
Draw as many shapes as you can find in this picture
W b) | P
)
PN A ]
¥ S I
4
v I
|
= c |
i Play Quiz Time with your friend

Take turns to ask and answer simple
questions based on plane shapes

Example : What Am 17

I am bounded by four equal struight lines.
| have four right angles, four comers,
What am 7



UNITS OPERATIONS

Addition, Subtraction, Multiplication
Exercise A
1. Do these:

{a) 9+9=1 () 5+9="1 (c) d+T=["]
T+6=1 E+6=[] 9+3= ]
n+5=C1 13+5=1 12+4=["]

Remember
The order in which we add two numbers
does not change the total.
Example: 4+ 8= 12: B+ 4 =2
e Do these;
(a)6+4 =["T46 () 110 +21 = 3+ 110
0+ = 9+ 10 308 +0 = 14308
CO+12 = 12 + 4 206484 = B4+

Compare the additions for 3 + 6+ 8§

(a}(3+6)+8 {b) 3+({6+8) fc) (3+8)+6 (b)B+(3+6)
9 +B I+ 14 I +6 8+ 9
= |7 =1F = |7 =17

The order in which we group the addends
does not change the answer,
Exercise B
1. Add these:

Ciroup the addends in four different ways,

M4+7+5 (c) 19+22+ 30 (e) 52+ 17+ 21

(b)2+31+5 (d) 9+6+8B (1) 205 + 143 + 36

L (a) Magic Squares
Look at the arrows. Leamn the names,

— . ———

15



Is your answer the same number ench time?

Squares like these are called magle squares,
In o magic square, the rows, columns and dingonals give the same sum.

(b) Copy and complete
The sum of each magic square is given below it:

-
w

24 15 30

3. (a) Read the problem:
Rod had 9 marbles. He played with Sarika and won 5 more.

Rod played again and lost 5 marhles.
How many marbles did he have at the end of the game?
This is Rod's picture of what happened.
" Rodhad Rod played sod won Rod’s total was
a0 L=
= ] & e 9
*e0 A 0 g0 0
0®5 oo e0e "o
L+ ] L= a B
% 9 marbles 5 marbles 14 marbles
-
Riod played and again
and lost § marbles
e
.i.
| 5 marbles

Rod wrote a number sentence 1o tell his story
P+35-3m=9

Try this:

Take 6, ndd 3 to it, subiract 3 from the sum.
‘What is your answer?

16



{b) Do these mentally. Write the answers.
T+5-5 BE+6-6 16 + 12 - 12
56 +32 - 32 325 +14-14 230 +10- 10

4, (a) What oumber must be added to 144 to give 5007
(b)  In three days a grocer sold 614 kg of sugar.
O the first day he sold 215 kg and on the second day 64 kg more than
the first doy. How many kilograms of sugar did he sell on the third day?
(e)  Sunil is 19 years old, his sister is 27 years old and his brother is 21
years old. What is their total age?

Exercise C

Let us multiply.

1. Write answers for:
(0)6 = 2 3x0 Tx8 9x9
(byd4 = | 6 x5 6 x 4 Ix)
(c)s = 7 Ex3 g = 8 § % 6

2. Find the product of:

() 3Sand4 (b} 648 and 2 (e} 3132and 7
(d) 4004 and & (¢) 132and9 () 1420 and 6
(g) 204 and 6 (h) 97 and3 (i) 7005 and 5

3. Solve these problems:
(a) 184 pussengers are in an aeroplane. How many passengers will
there be on 3 such seroplanes?
{b) A pencil costs $50. As a fund raising project, a Class Five pupil
sold 6 pencils in a day. How much money was collected?

Multiplication to 12 = 12
Here is numeral 11. 1t has the same digit in the tens and the ones place.
2 5 9

What do you notice about the products
=11 =11 %11 and the numbers multiplied?

N e —

17



Remember

When & number is multiplied by 1
the product is the number itself.
Exercise D
l.  Write the answers,
(®)7 x11 (b)4 = 11 (e)e6 = 11 (dy1 =11
(e} 9 =11 (HH 3= 11 (g5 = 11 (hy8 =11
2, Multiply
(@ 29 (h) 43 c) 28 {d) 36 ey 71
] =1 x1 =1 x 1l

Count the number of stars in each ser.
We can record this in different ways

* k Kk ok Kk

* %
u**
u‘-‘.

*
*
+ 3 +
2 setsof 3
12 times 3
12 = 3
3 L b

RS S

RERme +

3.  Draw sets to show :
(a) 12=2 (b) 12 = § (c)lsetof 12 (D12 +12 + 12 + 12

You can use squares to build tables

columns

TOWS

Count the number of squares on the grid.

Count the number of squares m each row 13
Count the number of squares in each column (3]
To find how many in all, we multilpy the number
in one row by number in one column,

12%3=[34

18



4. Use the method of counting the squares to find these:

each row

each column

=
Here is a number line.

nu

I Lok
LI L O L o . I L S [
& 7 8§ 9 10 01 1213 14 15 16 07 18 19 0 21 2 BB X4

——
012 3 4
It shows® + Bor 2= 8
Try building your tables with the help of a number line,

L

Here is a multiplication grid
(12 = 12)
Practise to multiply on this grid.

6 gl 10] 11] 12

0 0 o o 0 o
f 9
8

4| 5
1]
4 5 10{ 11} 12
8
12

—r
e =1

10/12 20] 22] 24
15[18[21]24] 27 30] 33 36
16/20(24[28]32] 36| 40[ 44| 48
10/ 15[20|2530{35] 40| 45| 50| 55/ 60
12/18/24|30]36/42| 48] 54 60| 66! 72
14/21|28|35|42/49( 56| 63| 70| 77| B4
16/28(32140(48(56| 64 72! 80| BE| 96|
18/27|36(4554/63| 72| 81 90 99]108
30{40/50[60{70] 80| 90100[110[120
33/44]55]66[77]88] 99f110[111]132
12]24]36/4860| 72|84 | 96(108120(1 32[144

Ot | | | | e | | B | | W

B e e I e =0 e
L.
]

L =]

1]
11
12

=
=
=]

—_—
[
e

PieIeeeelcioioiocoa o

Exercise E

. Use the grid. Write answers for
0 =12 Sx]2 12 = 10 6 ox12 12 =12
1 =12 B w2 g 12 =2 4 =12

2, Find the product,
34 45 70 21 13
=12 x]2 x |3 x12 x 12

19



Some articles are put together in hvelves.
Moather bought a tray of eggs at the supermarket.
She said, ‘1 bought one dozen eggs.’

How many are there in one dozenT

Twelve things make a dozen,
1 dozen (doz) = 12
3. List 4 things sold by the dozen.
4.  Find out how many things there are in :
(a) 5 dozens (b} @ dozens (c) 6 dozens  (d) 2 dozens

(e)8dozens  (f) | baker's dozen.

5. Multiply these:
(2} 37 = 10 (b) 12 =10 (£} 135=10  (d)4253=10
What do you know about multiplying by 107

Lall did this multiplication 25 = 10 like this :

25 10=5=30 51ens0ones
= 10 He wrote 0 in the ones place
250 10 = 2 tens = 20 tens 20 tens + 5 tens = 25 tens = 2 hundreds 5 tens

Lisa had & shorter way.

She wrote 0 in the ones place, then wrote numerals

in the same order as they were because she knew that:

= 10 (i) amy number musltiplied by 1 is the number itself.

(ii} to multiply by 10, increase the value of each digit by
placing them one place to the left. The ones place is
filled with a 0.

s

12

6. Multiply each of these by 10
5 T % 4y 35 215 4321; 3030

7. Multiply these:
The first is done for you

® 30 (2 tens + 4 ones) = 3 tens

20 ( 2 tems = 3 tens) + (4 ones = 3 tens)
6 hundreds + 12 tens
7 hundreds + 2 iens
720

20



(a) 24x30 (b) 62x70 (e) 90x=20 (d)y 39x40
(¢) 654 =20 () 447 =80 (g) BO3 =60  (h) 24070

Multiply by 2-Digit Numerals
Read the
A box has 24 birthday cards. How many cards will ihere be in 32 such boxes?

Find the answer.
{a) 24
x 32 multiply the ones
FT7 2 %34 mnltlplyhteu
720 30x24 add the products
768 32x24
Here are some other examples:
(b) 137 icl 237
= 45 ® ha
6BS 5% 137 9268 4 %2317
5480 40 » 137 139020 60 x 2317
6165 45 = 137 148288 (4 = 2317
Exercise F
1. Do these:
(1)37%22  (B)30x5T (c)B6=38  (d)40 =65
2 (a) I4 () 514 (e} 430 (d) 2704
%26 x75 =98 « 63

3. Solve these problems:
in) Find the product of 178 and 56.
(b) What nimber is 47 times 5097
(¢) Father carns $1250. per day. How much money does he eam in 28 days?
(d) A vendor sells 125 packets of milk per day. How many packets would
he sell in the month of May?

REVIEW

1. My class teacher collected 6 dozens exercise books for the class.
How many exercise books did she collect?

2. Multiply these:
(a)36x 15 (b) 71 = 30D (c) 413 = 27
(d) 46 = 50 (e) 2006 = 38 (N23x20

21



3. Abiscuit factory produces 236 boxes of biscuits in a day.
The factory operstes from Monday to Saturday. How many boxes of
biscuits will the factory preduce in 3 weeks?

4,  Write the number 14, Add 14 to it, then subtmact 14 from your sum.
What is your answer?

LET US LOOK BACK
1.  Wite in wonds:
216 004; 82 309; 400 T10

2. Write numerals for these:
{a) one hundred five thousand, two hundred eleven,
{b) wixty five thousand, one hundred one.
() eight hundred fifty six thousand, nine hundred fifty,

3. What is the value of the digit in bold type:

182 104; 705 006; 67 380; i
4, Use >, = or < to complete these:

() 65017 56 107 l} -

(© 100 200 EE 350 002 d}—} E%

(¢) 3504 EEE 3504 r}%. H%



6. (@) Look at pictures of solids:

ia) (b) <)

Write the number of:

vertices, edges, surfaces in each.

7. Copy and indicate with a v~ the ones that are closed and the ones that are open,

Shape Closed Open

[«
[~



UNIT6 DECIMALS AND WHOLE NUMBERS
Read and Wri.tt Decimal Fractions

0 H -
s

David opencd a packet of his favourite sweets. They were red, blue and green,
Mame the fraction for each colour.

1'1&‘ 13:3 and fﬂ are fractions for Red, Blue and Green respectively,
How many sweets had David altogether?

2

We can write — and — another way.

0’ Il} Hl
Fraction Another Way

2

10 0.2

3

10 0.3

3

10 0.5

A decimal fraction is a fraction from a whole consisting of ten equal parts.

We call 0.2, 0.3 and 0.5 decimals.
We call the dot in 0.2, 0.3 and 0.5 a decimal point.
Here is how we read the decimals.

0.2 - zero point two

0.3 - zero point three
0.5 - zero point five

24



The shaded part of the diagram shows 0.7 o %

T-Eﬁ is a decimal fraction. 0.7 is & decimal

%} and 0.7 show the same shaded part so % =0.7

Exercise A
Complete these:

1. What part of the diagram is shaded?
Give your answer in words, then as :
(i) a fraction (i) a decimal

2. Write decimals for these. The first one is done for you:
(a) five tenths = 0.5 (b) eight tenths () one tenth
(d) two tenths (e) three tenths {1} mine tenths

3.  Write as decimals :
;4 l 2 1 6 3
] 10 10 1] 10 ]

4. The decimal below each diagram tells what part of the diagram you should shade,
Copy and shade:

0.3

5. Aglass s¢t contained 10 glasses. Five were white, two were pink and
the others were blue. Draw this set of glasses. Colour them.
Write the decimals to show what pari of the sel was
{a) white {b) pink {c) blue

6.  Joan had a pan of fudge. She sold %uf&:ﬁldguandkfpuhemt.
Write decimals to show what part of the pan of fudge she:

(a) sold (b] kept

25



Exercise B

Try these:

1. Get a strip of cardboard about 35 cm long and 5 cm wide,
Collect 10 drink corks of two different flavours and armange

them on your cardboard.
Danmy s arrangement looked like this :

FYXXXEEX XX,

What decimal represents grape?
Waork with a friend. Take murms to make up and answer questions about

your armangement,

Arranging Decimals

2. Get 9 similar strips of paper, each 20 em long. Divide each into 10 equal parts.
Shade one part on the first strip, then two on the second and continue.
Mow armange your strips in order starting with the strip that has one shaded part
as shown in the diagram.

{a) On each strip write the decimal that tells the shaded pari.
{b) From your sirips say which is bigger:
(i) 05or0é (i) 0.1 or 0.9 (iii) 0.6 or 0.2
{iv) 0.3 or 0.1 (vi05orD3

(e} Read the decimals from the strips starting from the smallest, then from the largest.

Exercise C
[.  Compare these decimals, using = or <
(a) 0.1 103 (b) 0.5 ] 0.6 (c)0.4 1 05

1

Copy and write in the missing decimals to complete the number ling

| il | | | | 1 l Il |
| | I ! I | 1 T ] h

0.1 0.3 0.7 0.9
26
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Factors
Imd=12
We say that 3 and 4 are factors of 12

Exercise D

1.  Now complete these:
(o) d=6=0[1 dy Txd=[1 (g) Bx2=]
) 3x=9=7 (ey 6x5=1 h 9xg=C7
€ $x6=C1 (0 7x9=C1 (i) 10%3=C

In  (n) 4 and 6 are factors of 24
(b} 3and 9 are factors of 27

2, Follow the examples above, State the factors of the other numbers in the
Exercise.

3. Write other multiplication facts and state the factors of the numbers in the
ANEWETS.

4. Wriic the factors in cach of these:
(a) Exd4=12 c) T=0=0 il 7T=3=12]
fb) BxH6=48 (Hh 6xE=48 ) 3I=9=27
fe} 3=1=13 (g) Ox=g=0 ik} 4=4=16
(d) 5=8=40 (h) 5=5=315 i 35=2=00
Note: Zero does not have factors. Factors are defined only on counting numbers.

5. Write the missing numbers in each of these:
(0} 5 CI= 25 (e} 7= [1=49 i Cl=d = 3§
) 3x =3 (D Ex[1 =0 G 6= = 24
(€)9= =27 (g)8=[ =8 (k) =10 = 100
(d) CIxd4=32 (h) CO=x9=81 M= =2

Some numbers have more than ane factor, Example: 1 « |2 =12
1,2,3,4,6and 12 are factors of 12. 2% 6=12

Ixg=12
6. Say which docs not belong in each group
Sx=4 gx32 66 4=10
2x2x5 4x4 4=9 §x8
2x5 l6x1 EE R ET | §xqdul
2% 10 160 18%2 20%2
=] bl &5 &E ) Dx 3= |4 40 = |
10=1 #x2x2 Ju3xdx 10=2
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7. Make up other groups to show factors of
18 24 60 72

Powers of Factors

Look at this number sentence
Ixix3i=27

Which number is the factor?

How many times is the factor used?

The factor is 3; it is used three times.

How many times is the factor 2 used in this number sentence?

2x2u2n=16
The factor 2 is used four times.
Another way to write this number sentence is

=16 This is read two to the fourth power equals to sixteen

2 tells us that the factor 2 is used four times.

In3 =3 =3=27 the factor 3 is used three times
We write 3*

Look at 4 = 4 = |6, S0 4* = 16.
4 is called the factor or base.
* is called the power or index of 4

Exercise E
1.  Write these in index form.
The first is done for you:

(a)6xb=6=216 (b} 10 =10 = 10 = 10= 10000

6 =216 (1= 10000
(@3Ix3x3x3=81 (e)lxl=lxlxlx]=1
[ J=m =1
(g)dxdxd=p4 (h)5=35x5=]25
[ =64 [ J=12s

28

(c)9=9=81

[ =g

()8 x8=64
=64

([} T=xT=T=M43

[ J=343



2. Copy and complete:

() d=d4xd=16 (b) =0 (&) Pe 0 (d) 2Pm
P = = e 6= P
it S I SRR P oian, L ol S
3. Copy then name the factor or base and the power or index of the factor in each of
these:
{(a) B*= 64 (factor 8, power 2) e TR =g
(b) #=_.... " Y- ... b o S L
REVIEW
1. Write the following as decimals:
(@) three tenths (b) five tenths (e} six tenths
4 7 9
(d) 0 (e) 0 (f) io

2. Armange these from smallest to largest:
0.9, 0.7, 08, 0.1, 0.5 0.6

3. Write the factors of these numbers;
12, 18, 6, 24, 21

4. Copy and complete:
The arrow says “is a factor of™
Example ; 3 is a factor of 9, 12 and 15

;ilg
AN
5. Complete these:
@6x6x6x6=6'=_] (m)yfxfxfef=_] (c)sxsx5=[_]
(@ P=3x3= ] @ 1w=_] ma=_]
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UNIT7 MEASUREMENT

Length

James is about 150 cm tall.

A nail is about 20 mm long.

A table is less than | m wide.

The distance between two villages is about 2 km.

These are measurements of length.

We measure lengths in millimetres, centimetres, metres, kilometres.
These are the standard units for measuring length.

Exercise A

I.  Estimate and measure lengths of objects in the classroom.
Example : a book, table, the chalkboard, an exercise book.
Record the measurement on a table like this:

Compare the estimates and the actual measures.

2. Estimate the length of each lime segment.
Measure to verfy,

(@) ) () \ (d)



3. (a) We often measure heights in centimetres,
Estimate then measure:
your friend's height; the height of the chalkboard; the height of the cuphoard,
(b) Have your friend do the same.
Whao is better at estimating 7
The metre is also used for measuring lengths,
Name 6 things we can measure in metres,

| metre = 100 centimetres
Im =100cm

Mr. Pitt motored from Georgetown to Melanie. He covered a distance of about
16 kilometres. Very long distances are measured in kilometres,

1 kilometre = 1000 metres
| km = 1000 m

Exercise B

1. Copy the ble.
Choose the most appropriate unit of measure for each,
Place o ¥ in the appropriate column,

Object LUnit of Measure
mm | em | m | km

a chalkbonrd eraser

a sheet of cardbaard
h,hﬂ;i_lnufuhﬂd

length around 5 book

o new pencil

distance between fwo fowns
a hand span

Mass

Mass is measured in grams and kilograms,
| kilogram = 1000 grams
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2. Which unit is more appropriate for measuring the mass of cach?

Objects grms kilogmms
a fube of tooth paste
a television set
a letter
a coin
n set of mathematics books
o packed suitcase

3. Estimaie, measure then compare the mass of some things in the home.
Record their mass.

4. Take tums to estimate and measure the mass of your friends.
Compare their mass?
Who is the heaviest? the lightest?
What is the difference between the heaviest and the lightest person?

Capacity
Capacity is the measure of how much liquid a container holds.
The litre is used to measure capacity,

1 litre = 1000 millilitres
L1 = 1000wl

Exercise C
1.  Mame 6 items which can be measured in lires.

Here are two containers
of different shapes, but
equal capacity.

[

Collect some containers of different shapes and sizes.

Estimate the capacity of each then use a 1-litre measure to check vour estimates.
Record vour findings,

Do you have containers of equal capacity?
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For very small amounts of liquid we use the millilitre.
1000 rad =14

M ml = =1

1
2

250ml =__1

1
4 -

3. (a)} Look at this litre measure. It is marked —
off in hundred millilites, If you want 1o | ,

measure :‘Llinurwp,&wmpmuslbt

seen half way between two numbers on this .
measure, Name the two numbers. o

(b} Mr. Singh sold % litre of milk to & customer.

Between which two numbers was the milk scen?
How many millilitres of milk did the customer get?

4, Use the symbols <, > or = (o complete these comparisons,
{a}iﬂﬂmi[l.zl_.‘ M) 11 [] 750mi

(c) :';r [J1o0m (D900mi [ ] 11

5. Which unit is more appropriate to measure these capacitics?
Place a ¥ in the box.

millilitre
gasolene in a car tank
drink in a bottle

water in an overhead tank

0000§
Dooao

juice in a can

Time and the 24 - Hour Clock

The 24-hour clock notation 15 now widely used.

Most travel schedules use the 24-hour clock notation to show amival and departure times,
Many watches and clocks are now using this system with digital readings,
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It is 2 hours after midday.
We write this time as 14:00 h
‘We read it as fourteen hours,

Exercise D.
1. 'Write these times in 24-hour clock notation.

evening darkness
2. Copy and complete:

(a)




3. Aboy leaves home at 07:45 h and arrives at schoaol
at 08:25 h. How long did it take for him to get to school?

4. Anaeroplane leaves an airport at 20:00 h. After flying for 5 1 hours
it arrived at it's destination. At what time did it armive? 4

5. A minibus arrived at Rosignol at 17:15 h after travelling for 2 hours 20 minutes.
At what time did the minibus leave Georgetown?

REVIEW

1. Copy and complete:
I metre =1 eom
| kilogram =[_1 g
1 litre =[] ml

2. Use 24-hour clock notation complete these;
{a) & hours after 0T:00 his .vivevrerens
(b) 30 minutes after 15:45his o
(c)2h 15 mbefore 14:00his ....coorvrimma

3. Draw a 24-hour elock face and show these limes.
(a) 17:10h  (B)22:35h

4. A customer estimated the capacity of his container to be 3 litres,
He purchased kerosene and found that the contmner held 2 -;- litres.
Write a sentence to compare the estimate and the sctual measure.

5. Two brothers stepped on a scale scparately.

Krishna's mass was 45 kg; Latchman's mass was 3 kg more than Krishoa's,
What was Latchman’s mass?
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UNIT8 FRACTIONS
Fractions in Lowest Terms

Identify the fractions in this set.

1§22 32 Name some other fractions.
2 j 9
Exercise A
1.  Complete these equivalent fractions.
A o = A B $ R
@5 =73 ® =32 @y~ @Di=x
1.0 10 o = 1_
2, Complete these:
l-S.3 Ol 8 Clesd 2 i 4 0 O
5 10 O 20 OO O 02 1 35 0O
R o R SR pory SRS Y I < o [ | Ly [0 o |

3. Which fraction in each equation has the smaller numerstor than denominator?

iﬂl‘é‘ ='%" — _12_ because, comparing the mumerators, | is less than 2

and comparing the denominators, 2 is less than 4.

3 .12 i.3 S 3 Lo .
e O~ @™ @7 n
3

20

_ 3 8_ 2 = S
Do~ @e~24 W™y~37 Oz=3

4. In each set, name the fraction with the smallest nomerator and smallest denominator:

()4, 8 2 12 6 10 2,4 86 3 5 1
6 12 3 18 9 15 10 20 30 15 25 5
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Exercise B
Look at these fractions:

@l 2 3 4 3 6 ang
e L R LT Y

~

In this set of fractions, the numerstor and denominutor of %ummt be reduced.
In the other fractions, when the numerators and the denominators are reduced 1o
lowest terms, the result is % + W say % is the fraction in its lowest terms.
() 2, 8 12 ung 18 e fractions for the sami number,
5 10 20 30

.;. is the fraction in its lowest terms. Why?

1. Look at these and answer the question that follows:

3_1 2_1 - ot 14_ 7
@ =3 ®) 5=% T @ 55=1i
7] 3 2 | 4 2 [:] i
@y*3 @053 ®We=3 g3

What do you notice about numerators and denominators in cach pair of equivalent
fractions?

L.
6

Find the answer for both of thess questions,
(i) What can you do to 4 to get 27
{if) What can you do to 6 1o get 37

b 1

2. MNow look at this

[:3] %= % find the same answer for both of these questions.
(1} What can you do to 6 to get 27

(i) What can you do to 9 tw get 37

4_ 1
) =3
What can you do to both the numerator and denominator of %lﬂgﬂl %?

)



What can vou do with 12 to get 37
What will vou do with 4 to get the numerator?

0B

What can you do with the numerator 20 to get 57
Whalr.nnynuduwhh 24 to get ¢ timdmmnmalw‘i'

Exercise C
1. Change these fractions o lowest terms:
WS O5d O3-F O5-5 ©O5

The foctors of 18 are : X 6, 9, 18

The factors of 20 are : 4, 5, o, 20

1 and 2 are common factors of 18 and 20 because they are factors of
both 18 and 20, but 2 is greater than 1.

S0 2 is the greatest or highest common factor of 18 and 20
The H.C.F. of 18 and 20 is 2.

Similarly,

The factors of 12 are : q,
The factors of 36 are ; L'

The common factors of 12 and 36 are 1,2, 3, 4, 6and 12,
The highest common factor of 12 and 36 i5 12,
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Study this problem:
Change %.:hiulmrum
4+2=T, 18+2=9

So 4= 7 7 isafraction in its lowest terms.
18 9 9

6+2=1 S |

%w -%- Now %hlﬂwﬂmhhhmm.
2_6_3
And =34

You can change 10 its lowest lorms in one step.
The highest common factor of 12 and 16is 4.

12+44=3 l6+d4=4

12 3
e T
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Exercise D
1. Write each fraction in its lowest terms. The first is done for you:

@3- wiB-O l-O

18+6=3
J0+6=35

4 _ 20 _ 21 _
@ 3 1 (©) 35 1 0 55 1

2. Write each of these in its lowest terms without writing down your division;
The first is done for you

(a) f—j-% {h]%J:] (c}%’=[':l

7 i 12 6 _
@ 35 @ 0z =L

Lowest Common Denominator

Look at this.

Multiples of 2: 2, 4, 6, 8, 10, 12, 14, 16, 18, 20

Multiplesof 3: 3, 6, 9, 12, 15, 18, 21, 24, 27, 30

Numbers which are multiples of both 2 and 3 are common multiples of 2 and 3.
Three common multiples of 2 and 3 arc 6, 12, 18.
The lowest common multiple (LCM) of 2 and 3 is 6.

Exercise E

List (i) the first ten multiples of each number in a sel.
(i) the common multiples of each set.
(iii) the lowest common multiple of each set.

(a) 3and 4 (b} 4 and & {cl6and 8
(d)3, 6and 9 {e}4, 6and 8
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Look at these equivalent fractions.

A
2

1

2

_2_3 _4_5_6
4 6 8 10 12
i .38 4.3 7§

4

510 15720 25 30 35 40 45 30

8 _9 10

1 and % written as fractions with the same denominator will be:

10 gnd 4
20 20

Three common denominators for % andl %I.ﬂ! 10, 20 and 30.

The lowest common denominator for i_ and %i;lll

Motice the lowest common multiple of 2 and 5 is 10.

Mow write % and %uﬁnﬂﬁmwiﬂiﬂmmzdmnhm.

Which is the lowest denominator,

Exercise F

l.  Rewrite using the lowest common denominator.

The lowest common demominator of
n sel of fractions is the lowest common
multiple of their denominators.
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2. Copy and complete the table below, The first is done for you.

REVIEW
1 wmmmmmurwtm
S - B 1 4_16
Wy= ®F- m‘“'" =3 {‘”s‘n ®©3=-5
2.  Reduce these fractions to lowest terms:
15 12 i3 49 12
{a) 2 (k) 3% ie) % id) % (e) i
3 Rewrite these fractions with lowest common denominator;
) R0, 3 1 3 4 3 1
mz’ 4 '.'hl?. 3 o 5 @ 8 4
o S S & ir S il g 7 1 4 13
mz'«:'n me'a'z mal‘s‘u m:r'u‘

4



UNIT Y DECIMALS
CALLEREERLEOERREREECERRERREALAPPMRCRLA RO LD AL RS

The strip of paper above has been divided into 100 equal parts.
I part = ﬁ = 0.0] - we read this as zero point zero one

2 parts = %=0.02-w¢mdlhisasmmpﬂimmnm

3 partg = %-D.ﬂ] - we read this as zero point zero three
Now continue to zero point Zero nine.

10 parts = ir]-n~=ﬂ.lﬂr¢ndmz:mpuimunum

11 parts = ﬁ=ﬂ.11mndmz:mpﬂimuneune
12 parts = [%uu,umdmumpaimunuw
99 parts = %=D.9‘9mduztm point nine ning
100 parts will be the whole, this is writicn as (% or 1.00 or 1.

We have divided the sirip into 100 equal parts. Each fraction has 100 as the denominator,
each decimal fraction has two places to the right of the point.

Example: 0,01, 0.04, 0.11, 0.84, 0,99

We can write decimals on a place value chart.
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Exercise A

1. Write these fractions as decimals:
15 28 il 38 3 Gt

1000 100° 100" 100" 106" 100

Compare Decimals

One part out of one hundred parts is 0,01

Five paris out of ono hundred parts §s 0.05

| part is less than S parts

5 parts are greater than | pan

0,01 is less than 5 parts or 001 <005
(.05 is greater than | pat or 0,05 >0.01

2, Copy and complete these, Use = or <

(@001 C1002 (b)0.05 C—1003
(d}0.89 1079  (e)0.85 1058
(2} 065 1039 (h)0.56 1 0.65

3. Amange these in order - smallest first,

{c) 0.56 1 0.60
(H0.09 C—10.19
{i)0.12 1 0.02

(a) 0,03, 0.09, 0,01, 0.08, 0.07 (b) 0,93, 0.86, 0,63, 0.79, (.52
(c) 0.56, 0.65, 0.41, 0.21, 0.39 (d) 0.89, 0.98, 0.78, 0.87, 0.97



REVIEW

1. Whrite as decimals:
3 B % i 5B 8

107 100" 100° 100" 100" 100° 100

2. Wrile as fractions:
06, 031, 007, 0.09 0.59, 0.99

3. Copy and complete these. Use > or <
() 0.85 ] 0.86 () 019 10,91
o1 0,06 10,60 (d) 0.59 1050

4. Arrange in order- smallest first;

(n) 0.03,0.33,0.13, 053,093
(b) 0.15, 0.28, 0.06, 0.78, 0.0
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UNIT 10 FRACTIONS
Improper Fractions

Look ot these:

4 BEin Py SES

"N o

Write the fraction for the shaded parts in each row,

Example: in (a) three-thirds are shaded. We wrile 3

Look at the fractions you have written. 3

Look at the numerator and the denomminator of each fraction
What do you notice about them?

Fractions like these are called improper fractions.

Fractions with their numerators equal to or greater than )
their denominators are called improper fractions.
Example: 3, 3

3 3

Exercise A

I, (a) Look at these number lines:
Write the fraction 1o show where the wrrow poinis,
State if it is a proper or an improper fraction and why,

N
b ke
L - P



0 2 3
4 1 3 31 4 35 §& J 8§ 3B
3 3 3 3 3 3 3 3 3l
(b) Copy these number lines then draw 3 circle around the improper fractions

on each:

0 1 2 i
01 2345567809 10in
R S S A S S S S S S S
0 | 2 i
01234567 89 101112131415
3 4.3 3 8 55 5 5 5 5 5% % 5% 5

ic) What do you know about improper fractions?

Copy the improper fractions in each row.

o byt ekl
o bttt @i
BT BT T

About Improper Fractions

= the numersor i equal to or the same as the denominaior
- the numerator is greater than the denominstor
« the fraction represents a whole or more than a whole

Rename Improper Fractions

Mother baked two cakes.

They were both the same sine.

She divided cach cake into 6 equal parts.

47
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She shared 9 parts to her children,

- G

"hmwm

=|

6 and 3 3 of the cakes was shared.

-3

9 .
6
i-'g_-l- 3
i1 &
OR 1+3
6
1
'l"lml:htl.llT

Use two rectangular picces of paper as fudpe pans.

Show that they are the same size and the fudge in cach divided into 8 equal parts.
Shade to show 12 parts caten.

Write the fraction for the parts eaten

Is it a proper or an improper fraction?

How can you tell?

Write the fmction to show your reason.

Exercise B

I, im) Copy the dingrams below and shade 1o show the fraction written under each
group of dingrams:

- Q@R
3 k<

wn e

DD BDDD




(b) Write the fractions in (a) 1o show the wholes and parts of wholes,
The first is done for you.

-] 3 2
S R S S
3 3 3 Numbers made up of whole numbers and
Sapd fractions are called mixed numbers.
3
=1%

1% i% a mixed number,
2. Copy the mixed numbers in each row:
2 L 7 2
{ﬂ.} El ]Tl ?ILJT

g 7 3
{‘u}IT.ﬁ. IT.S

3,
12

@7 3, 3 B g1
R A Tl

5 9 1

3. (a) Write these improper fractions as mixed numbers:
7
4

4 4 4

(b} Write fractions to name some points on the number line.

0 1 g — 3 .
( 5 W G . TF v ST 930 PR
332 3/ 3 3 3 3 3 3 5 3 3 3

(e} Use the number line from (k).
(i) Write all the improper fractions between 0 and 3.
{ii) Write the improper fractions as mixed numbers or whole numbers.

How did you change improper fractions to mixed numbers?
Anil used the number line like this:

[ S TS W R MO
23 3 3 3 3 3 3 3 3 3 838 3
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This is what Marnice did -
She took the improper fraction % and represented it like this.

Each whale is divided into thirds and written as thirds, One whaole has 3 thirds,

AAA

AR PE P |
503—3+ +3

ad a

B — 412
l:Iri ZT

£+3 =2and 2 remainder

sz

To write improper froctions as mixed numbers
simply divide the numerator by the denominator,
Write the quotient as the whole number.

Write the remainder as a fraction with the
divisor as its denominator.

Exercise C
1. (a) Write these improper fractions as mixed numbers:
8. 1B 3 1
3 12 2 9
(b} Write these mixed numbers as improper fractions:

3%+ 2 7l 12

1
Tk 3 3

{c) What did you find out in changing :
{i} improper fractions fo mixed numbers?
(i) mixed numbers 1o improper fractions?
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7 =Y
Tuuhmgulmmudnumh:a'mlnmmuperfmcuun:
- multiply the whole number by the

denominator of the fraction,
- add the numerntor to this,
- wrile the result as the numerator of the
improper fraction.
\ - retain the denominator., ]

2. Change these mixed numbers to improper fractions:

I 2 T 2
M 33, 31393, &2

) 45. 1L, 82, 91
REVIEW
.  {a) Change to mixed numbers:
4, 32 20 16 9
3 9 57 % 5

3.

(1) Change to improper fractions:

i 3 I i 2
E-T, 3?‘ ZT. TT, -1T

Copy the number line:
Draw & triangle around each improper fraction.
Which fraction is the largest?
il 1 2 3 4 ]
0 1 2 3 4 § 6 7 8 9 1011121314 151617 1819 20

Solve these problems:

(a) % of a bag of oranges were spoilt, _g_ of another bag of the same size

(b)

were spoilt.
What fraction shows the spoilt oramges in the two bags?
Write your answer in two ways.

Sunil bought 3 cases of drink. He fiound that % of the first case,

% of the second case and %nflh: third case were lemon flavour,

What fraction of the drink bought was lemon favour?
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{c) Sarika drank % litre of milk, Sunil drank % litre and Anil drank i fitre.
How many litres of milk did they drink together?

4. Write an improper fraction to tell the leneth of the nencil in centimetres,

Cr—S—
TLlem
LET US LOOK BACK
1. {a) Copy and complete this table:
Fractions Decimals
s
2
L]
4
4
0.3
o,
8
3
[ =

(b) Write these in order from the smallest 1o the largest:
0.4, 0.9. 0.1, 0.5, 0.7

(c) Wnite the factors of 64, 28, 81, 225,
(d) Wnte these in index form:

((}7=7=7 (9=9
(i) 3=3x3 =] (iv)5xS=x5=x5=5
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{a) Estimate the length of this line Measure it
b} Copy and complete these sentences.

(i} Estimated length is

{ii) Actual length is

(iii) My estimate is more/less than the actual measure,

Copy the table below and write these fractions under the various headings.

(a) Change mixed numbers to improper fractions
(b} Change improper fractions to mixed numbers,

3 2 I [ § 12 I 26
'k “'T' JT' 5 lT‘ i PT' %
Which is smaller?

(a) .83 or 03  (b)0750r 0.92 (c) 047 or 0.68

Write these, beginning with the largest.
(a) 0.42, 0.81, 0,65, 077 (b)0.15, 0.53, 0.99, 0.62
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UNIT 11 FRACTIONS

Add and Subtract Proper Fractions
Study these:

{b)

(@

]IIIIIIIIIIIIIII

3.7
TET %

et |t
b |

Lel us work together.
. Suzette had a pan of fudge,
The shaded parts show the finction she ate,
What fraction of the pan of fudge was left?
Finding the answer
The pan of fudge is divided into 12 equal parts.

So we have 1-1 Suzetic ate é
12 12

What remained? 12 5 .

She shared

Danny.

2, Muother hoked a cake. She cut it in into 12
cqual parts.

% of it 1o Father and % 1o

(2) What fraction of the ceke was shared?
(b} What fraction of the cake remained?

Finding the answer

.
The cake = 3
"I" = E & .=ta o 3'
3 o Father 12° 3 to Danny 3
1 1 G ., 3 9
(anmghﬂ.red-z ol e



(b) Part remained = 13 - % = —

L]

B
[
Eed

Exercise A
I.  Inthe pictograph, one vegetable represents

|
E of the gﬂl‘dfﬂ '
Study the pictograph then answer the questions,
{a} Write the fraction which tells what part of the .
garden is used for: (i) vams and tematoes;
{ii) carrots and eddoes; (iii) corn and eddoes. .
(b) How much more space is used for vams than

kS

00000

for eddoes? Tomatoes Camabs B Com

=8 Find the sum or the difference:

. AP e 1 T s
We*s DS rETE L e T
1,33 3 2 4 1
DHEratn ®g-% ®3-3

Look at this:
Anil and Sartka were each offered a prece of cake.
The cakes were divided into equal parts like this.

Anil took . Sarika took .

What fraction tells how much cake they had together?
Anil Sarika
| I
s T3 .

Finding the answer:
{a) The denominators are 4 and 3

Write the fractions with & common denominator,
Find the multiples of the denominators
Multiples of 4: 4, 12, 16, 20, ete.
Multiples of 3: 3, 6, 912, 15, ctc.
Identify the common multiple (12), Then the lowest common multiple (12),
12 iz the fowest common denominator of the fractions.
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Lgado 3 o8 o F
Sy *t3"n*tn"n2
Fractions with Rewrite with a Add the numerators and
unlike denominators commaon denominator retain the denominator
;) 2 1 x3_3 1x4_ 4 L O
4 3 4=3 12 3=4 |2 12 1 12
Look at a subtraction M
)
2 5 —
Finding the answer
(a) The lowest common multiple of 2 and 5is 10
The lowest common denominator of the fractions is 101
LoF 2.4
2 10 5 10
| 2
) 5= g=d
L Leg s p_aea
2 2=35 10 5 5=32 10
o A, ot
o 10 10
Exercise B
1. Use diagrams to help you
l - l b l + l i i L
Wyts Mg ts ® 3573
3.1 i 3 3 2
a2 - L R SR ; R
Ws-2 €33 © %%



2. Wrilte the answers to these in their lowest terms. The first two are done for you.

& -3 2 1.
w g+3-U o -
l.l=2_ 2 2.2%3_6
4 4 =32 8 4 4=3 12
.26 1_1=2_ 2
8 8 8 6 6x=x3 ]2
" 6 2_ 4
3 N FRRTIRT
- 8t2.3 4
8274 3 in lowest lerms
_I+4-_L
12+4 3
To write fractions in its lowest lerms,
by the highest common factor.
P S R i e P | 2.,32,1
W 3¥sTE W yrgtrty Gegrs
n_1 3 3 o A
® 15 3 (&) 4 12 ﬂn! 1n
Addition and Subtraction of Mixed Numbers
I Elbyﬂnplfw!.}hhﬂmm;mdl%hindunﬂmm
How many hours did baby slecp that day?
Here is what Suretie did.
mixed numbers a common dencminalor fractions whole numbers
2 2 =32 4 4 4 .4
3IF+24 IF=IFrFTE=IF FHymg Nei=s
4, dx] 4 4 L]
IT —2+ ﬁ = _I "1—:-' 3T+2T-5T
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I
LF.
+
+
|

7 R e I e |
3 in its lowest terms ke

64 =6+

2. Danny drank 1% ]iuﬂufmngejuiccﬁ'mltmuiwn“%liuﬁ_
How many litres of juice remained in the container?
Here is how he found out.
He used Suzette’s pattem.

Subtract the whole numbers 4 - 2= 2
i 3

.o 86 3 3
Subtract the fractions 388

So4g-24 =2

Remember

Exercise C

1. Do these sdditions and subtractions;
@13i-9l MY F+15F  (¢) 65+1205
@16L-5L  (@163-4F  M23H165 +10g
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2.  Suolve these problems:
{a) Apdm-rwnmﬂ} hﬂlﬂMuﬂh};d{_ hours on Tucsday
and | L. hours on Friday How many hours did he work in all?

(5) Mother bought cloth for curtains and sheets. Here is what she bought:
uﬁmarmn% metics of lace, and 8 | metres of tapestry,

() How many metres of cloth did she buy?
{ii) How much more tapestry than cotion did she buy?

REVIEW

. Find the sum or difference:
w4+l e e S (E B S SR B2
@5+ 5435 @3+ 13 -14

2. Use 2 or more cubes. Number them like these.
f3

Toss the cubes with » friend. Add and subtract the numbers that tum up each time.
Remember 1o subtract the smaller number from the Lager oumber.
Exumple:

1 1 5 1
S5 -2y =S

-31%

=34
Check your score o delermine the winner.
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UNIT 12 NUMBERS

Prime and Composite Numbers
Look at the drawings below, then read the multiplicmion sentence for each.

OO0oad |
i3
lrowofd=1=4 2rowsof2=2x32
There are two ways of writing the multiplication facts of 4
1x4=4 2x2=4
So the factors of 4 are 1, 2 and 4
Here is another example

(| .-

lrowol7=1=7

Exercise A
1. Copy and complete this chan 1o 50

2. MNow look at the chart you have made,
Complete these:
{a) The couniing numbers from | o 50, that has just | facior s .............
(b) The first 6 counting numbers that have just 2 factors are 2, 3and ..o,
(¢} The first & counting numbers that have more than 2 factors are 4, 6, 8 and ...

MNumbers that have only two factors are

prime numbers, Prime numbers between | and 15 are
2,3,5 7.1 and 13,

Numbers that have more than two factors are
composite numbers. Compaosite numbers between
land |5arc4, 6,89, 10, 12and 14,

Mote: | is neither prime nor composite.
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Sinee the whole number 2 has just | and 2 as factors, then 2 is divisible by only | and 2.
Since the whole number 4 has 1, 2, and 4 as factors, then 4 js divisible by 1, 2, 4,
What do you know about numbers and their factors?

Exercise B
1.  Answer these questions;
{a) Which counting number is neither prime nor compaosite?
ib) Say which of these numbers are prime and which are composite.
8 1 18 17, 3, X
() What are the prime numbers less thun 50; greater than 507
{d) What are the composite numbers less than 50; greater than 507
{e) Find the sum of the prime numbers betwesn 1 and 10;
the composite numbers between | and 10,

2. Complete these statements:

(a) 3 is divisible by ._......... and ..,

(b) 7 is divisible by ..oooireee a0 o

(c) A prime number is d:wslblc I:r}' ........... and itself.

(d) 4 is divisible by ... SR ", I

{2) 10 is divisible hy ........... P cand ..

(N A composite number is divisible by more thnn i counting mumbers.

Multiples of 1- and 2-Digit Numbers
We can find all the factors of a whole number by writing all the multiplication facts,
Example: For 9 1x9="9
2xTmG
1, 3, 9 are factors of 9.
2 is not a factor of 9. Why?

For 12 [®]2=12
2x6=12
=12

1,2, 3,4, 6, 12 arc factors of 12

We can say that:

9 is a multiple of 3 because 3 = 3 =19, 9 15 0 multiple of 9 because 1 x 9=9
12 is a multiple of 2 because 2 = A=12; 12 is a multiple of 3 because 3 x4 = |2
Is 9 a multiple of 47 Why? Is 12 a multiple of 57 Why?
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Exercise C

I.  Amwwer these If ves, give a multiplication fact 10 suppon your answer.
Is the first number a multiple of the sccond?
(a)15:3 ([(B)2T:2 (epl2:2 (d11:3
(e)36:6 (N49:7 (@23:4 (M3I5:7

Lowest Commaon Multiple

We can list the first 8 multiples of 4 in this way:
du|=d 4u3=17 4=5=20 4xT=28
4ul=l dxd=|6 4x6=24 4ni=31

Some Moltiples of 4 are: 4, &, 12, 16, 20, 24, 28, 12
Here are the fimst # multiples of 6,

Grl=6 G6GxI=|B 6=5=30 6=T=4]
Gu2w |2 Gvdu2d HubG=36 GeEE=48

The first 8 multiples of 6 arc: 6, 12, 18, 24, 30, 36, 42, 46

Now look at this:

Multiples ol 4: 4, B, 12, 16 20, 24, 28, 32, 36
Multiples of 6 are: 6, 12, 18, 24, 30, 36, 42, 48
12, 24 and 36 arc the common multiples of 4 and 6,
The lowest comnon multiple of 4 and 6 15 12,

Exercise D
1. Dothese:
{u) Twelve multiples of:
b - Jare....
Three common multiples of 2 and 3 are g
The lowest common multiphe of 2 and 30 ..
(b} Ten multiples of:
LT C— 3 S—
Two common multiples of 4 and 6 are.......
The lowest common multiphe of 4 and 68 s
2 Find these:

() What is the lowest common multiple of:
Band 12; 9and15; Gand 10; 20 and 257



i{b) What is the smallest number imto which 2, 3 and 4 can be divisors?
{¢) What is the LCM of
B. % and 12; 10, 14 and 157

REVIEW

B

Copy and underline all the prime numbiers:
@3, 69 11,17, 21, 13

{b) 29, 32, 3745,47, 53, 55

(c) 57, 61, 69, 73, 79, B2, B6

Copy and underline all the composite numbers:
(m) 2, 4, 5, 8, 10, 15, 19
(b) 25, 31, 35, 41, 46, 51
{c) 63, 65, 71, 75, 79, 93

Write truc or false;

() 10is amultiple of 4 and 5 (d) 24 is a multiple of 3 and 6
(b} 30 is a multiple of 3and 7 (&) 42 is & multiple of 6 and 21
(e) 12 is a multiple of 2, 3 and 4
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UNIT 13 GEOMETRY

Polygons and Angles
Here are two shapes

List some differences between them

A has 3 sides and 3 angles. B has 2 straight lines and | angle.
It is a closed shape. It is 3n open shape.

A is a closed shape made up of straight lines.

It is a polygon

(" A polygon i bounded sl Fines.
L ygon is a closed shape by straight J

How many sides and angles are there in these shapes?

S>>

Shapes Iﬂu these, with 4 sides and 4 angles are r.ul!nd
Cundrilaterals.

Count the number of sides and angles in these shapes

| . |
Say if these are triangles or quadniaterals’
Give a reason for your answer.




5 angles are Pentagons

(" Shmpes with § sides s [ Shapes with 6 sides and
6 angles are Hexagons J
=t

- ) S—

~

What can you say about the number of sides and angles in any polygon?

Exercise A

l.  Use pieces of cardboard. Cut out these polygons
A triangle; quadrilateral; pentagon; hexagon.
Write ihe name on each

2. Here are some polygons

(a]

Write the name on each.

’ ‘ ) - mu.

Record the information on a table in terms of the number of sides and angles.

Angles

Do you remember the name of this angle?
It is m right angle.

Use your arm o show & right angle.

Now, elose in your arm as shown in this picture,

Is this still @ right angle?

1% it larger or smaller than a right angle?

An angle smaller than a right angle is an acwie angle.

Return your arm to the right angle position.

Lower your arm a5 in this picture,

What do we have?

An angle greater than a right angle is an obtuse angle.

Form the right angle with your smm once maore.
Now straighten your arm.

What is the nmume for this angle?

This is & straight angle.

A straight angle has 2 right angles.
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Lt us muke an instrument 1o show angles.
Fasten them with a pin.
Try showing right angles; acute angles; obiuse angles.

Exercise B
1. Here is a set of angles.

S

Arrange them into 4 groups,

2. (o) Draw a right angle.
ib) Draw a straight angle,

3. Use paper to make the 4 types of angles,
Group them and display your angles in the Mathematics Comer in your class.

REVIEW

1. Here are some Polygons,
Draw and name each, State the number of sides and angles in esch:

2. Here are some angles,
Arrange them sccording to their size, smallest first;

- ie A



UNIT 14 OPERATIONS

Multiply And Divide
Look at ihis:
ig ‘. The triangles are armnged in rows of 5.
How many triangles are there in all?
dx5=720
How muan of 5§ are there?
AAA T,

Wi ulvo use division 1o find the missing numiber,
Exanple: missing number (n) = 5 =20
n=2W=5
n =4
We can partition the sct of 20 trianges 1o show subsets
with § members ench and find oul how many such subsels we have.
S50 0+S8=n

MWeS=d
We=dx$
For cach division sentence, ibere is 8 related multiplication sentence.
Remember
Division is the inverse of multiplication.
Division will undo multiplication.
Multiplication will unde division.

This doing amd undiing is the inverse relationship between miltiplication snd division.

Exercise A

1. Write a related multiplication sentence to undo ench division
() 7243 (b)35+3 (e)24+2
() By =2 ()21 +3 H3n+§

Division - 1-Digit Divisors
Study this problem.

There sre 40 workers on a May Day Parade.
They are marching 4 in a row.

How many rows of workers are there?
Colleen and Robert solved this problem.
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Colleen placed small dots in rows of 4 Robert found the missing number.

until she had 40, Then she counted nxd4d =40
the number of rows and stated whst wus done. S0 n = 40 + 4
40 = 4 = 10 rows. 40=4 = 10 rows

To verify her answer, she multiplied the number

of rows (10} by the number in each row {4) e 10 = 4 =40
Who is correct?

Nuotice, they both used the idea of doing and undoing.

Now let us suppose the 40 workers marched in rows of 3.

What will the solution look like?”

What will be the answer?

Colleen made subsets of 3 from a set of 40, until she could make no more.
The answer looks like this

S Hkk EEE FEE EkE S |355Ib§ﬂ5|:lf3l.ﬂ:||
Wk kR EEE EEE EEE REE I]ruw;u-l'jwm'kms
an i B and | worker remains.
To verify she did this:
Mumber of subsets * number in each subset + remainder
40={13=3+1

Robert used a number line to show 13 moves of 3 going back from 40 ook him 1o 1,
He found out; There are 13 threes in 40.

If he subtracts 13 threes from 40, | remoins,

To verify he did this: 40 = (13 = 3)+ |

Let us do the division
quotient
40+3 13 |—= remainder
divisar — 3] 30 — —s dividend
30 10=3
10
9 Ix3

Verify: dividend = (quotient * divisor) + remainder
40 = 13 = 3 + |
The remainder is always smaller than the divisor.



Exercise B

I. (s} Use pamitioning to find the quoticnt and remainder in each.
Check cach answer.
D+ B+4 N+ 1T+) 0+) B+

(b} Use numbser lines
Find each quotient and remainder.
Check each answer.

2. Do thesc:
W35 B3NH @4 HE @
(e) 4) 1452 (H3)3107  (2)2)4031 () 5) 5209

1-Digit Divisors

Divide by multiples of 10 and 100

Sty this:

Dave had 550 drinking straws. He joined them to make lengths of 30 straws cach.
How many lengths was he ahle 1 make from his set?

How many straws remained?
30) 550
(i) Think
3 tens) § hundreds 173 tens = 1 ten = 3 hundreds
and 3 tens * 2 tens = 6 hundreds
(i) We know that: then the quotient Is less than 20
30 = [0=300
Then there are 8 times 30 in 250 307550
=300 30x10
250
(iii) The remainder 10, is less than 30 .40 30 =8
[[1]
ISRIO —
So 30550
18 lengths and 10 straws remained,
We can verify the answer.

550=(18=30)+ 10



Exercise C
I.  Copy and complete,
Verify each nnswer,

{a) 1012132 {b) 40) 1630 {c) 3007253  (d) 20)3125

(5]

Try these: (@
Lise the number in the smallest tnangle os
your divisor,
Divide each number.
Write the quotient and remainder,
Zero in the Quotient
Study these:
(a) 671283 (b} 01 R2
divide (i) 672 hundrods - —
(i) 616 tens "8 (i) no tens, record 0
(iii) 673 ones 6 (i) I=8
1
6 !IEE];H R3 Since there are no lens in
1200 (i) 200 % 6 the dividend, record o zero
‘ﬁ {n it the quatient and continue
.60 (i)} 10%6 the division.
3 (iiI=6

Since the dividend 3 is less than the divisor 6
record a zero in the quotient and 3 as the remainder.

In & shoder fomm
210 R3 201 R2
6 11263 6 JT20%
12 12
fi ]
- - i
3 .
Loak at these:

258 persons wenl o o cinema show. The cinema has 6 seats in each row and there are 35
rows. Will evervone be seated 1o watch this show? How many rows will be filled?
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Lt us work:

43 4 < — This means 40
61258 6 T35 tens
=240 {40 = &)

18 3
=18 (3x6) 6 178 ones

0

So everyone will be seated. 43 rows of seats will be filled.
If the cinema had rows of 5 seats. What will the new position be’
51 R3
CRFLi]
=250 (50%5)
]

- 3 (1=9)
3

51 rows of seats will be filled.
3 15 less than 5. S0 3 persons will be in another row,

Exercise D

Try these:
L. (a)6 MR (b) 5 5RI5 (c) 6634 () 73772

2. A baker needs o bake 3765 loaves of Bread. His oven bakes 15 loaves
in ench batch, How many batches will he need 1o bake?

REVIEW

1. Write o reluted mutliplication sentence for ench division,
(n) 135+5 (b1 714+ 7 {c)284 + 2
(d) 6240+ 6 (€)972=9 ()2493 + 3

T



Use number lines to show these. Write the quotient and remainder.

(n) 4142 {h) 3137 {c) 5]29

Solve these problems:

{a) Ata sports day, |56 children from 6 classes were present. Each class had
an equal number of children there. How many children from Class 5 were
there?

(h) 987 kg of peanuts are to be put into 80 kg bags,
(i) How many bags are needed?
{ii) How many kg of peanuls rematned?
(iii)How many more kg of peanuts are needed to fill another 80 kg bag?

() Mother bought 58 m of curtain material, If cach curtain uses 5 m of cloth,
how many curtains will she pet? How much of the material would be left over?
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UNIT 15 OPERATIONS
Test for Divisibility

Do these divisions.
State the quotient and remainder in cach.

{a) 2116 (b) 2040 (e) 2172 (d) 2]6% (e) 2734

In 16, 40, 68, 34 and 72, the remainder is zeto but 23 + 2 gives o remainder 1.
2 is a factor of 16, 40, 68, 34, 72; but not a factor of 23,
23 is not a multiple of 2.

Remember
When one whole number divides another and leaves a remainder zero,
we say the whole number is divisible by the other.
Every multiple of a whole number is divisible by that number.

Exercise A
l.  Here are some multiples of 2:
0, 2.4, 6, 8, 10,12, 14, 16, 18, 20, 22, 24,
{a} A multiple of 2 has special digits in the ones® place.
Mame them.
(b) Which of these are divisible by 27 How can vou tell?
55, 36, 90, BT, 64

A whole number is divisible by 2 if the numeral
has a 0,2, 4, 6 or § in the omes” place,

2, List some multiples of 10:
(a) How can you tell if a whole number is divisible by 107
(b} Which of these are nat divisible by 107 Why not?
5,17, 10, 25, 44, 60, 80, 92,

3. Study these multiples of 5:
0, 5, 10, 15, 20, 25, 30, 35, 40, 45.
{2} What pattern is there in the numerals?
() Arc all multiples of 10 divisible by 57
{eh Are all multiples of § divisible by 107

A whele number is divisible by 5 if the numeral
has a 0 or 5 in the ones” place.
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4. Divide these by three. Which are divisible by 37
22,18,7,9,32,27.

5.  Look at these. Let us find the sum of the digits in each:

(8) 213 —241+3 (b) 612 —6+142
(C)412 —4+1+2 (d) 138 — 1 +3+8
(@111 = 1+1+1 D178 —=14+7+8

6. Which are divisible by 37 What have you found out?
Find the sum of the digits in these.
(a) 426 (b} 602 (c) 371 (d) 546  (e}222 (f 777
Which are divisible by 37

A whole number is divisible by 3 if the sum of
the digits in the numeral 15 a multiple of 3.

7. (8) Write a 2-digit numeral. Find the sum of the digits.
Is the sum divisible by 97
{b) Try this with (i) other 2- and 3- digit numerals; (ii) multiples of 9,
{c) Are all multiples of @ divisible by 97

A whole number is divisible by 9 if the sum of
the digits in the mameral is 2 multiple of 9.

Averages

Study this:

Ann and Anil spent some time at the library each day for 5 days, This table shows
the number of minutes spent at the library by each child, over the period.

20 | 15 | 30
15 | 20

(a) Who spent more time ai the library in the 5 days?
(b} Divide the total time for cach child, by 5 days,
How many minutes is this per day for each child?

Ann spent & total of 115 minutes,
This means 115 + 5= 23 minutes per day.
We say that Ann spenl an average of 23 minutes at the library each day.
What is Anil’s average time at the library over the 5 days?
(i) Find the sum of the time spent each day for 5 days.
i.e. 10+ 25+ 15+ 30+ 20 = 100 minutes
(i} Divide the sum by the number of addends(days})
i.e. 100+ 5 = 20 minutes per day.
So Anil spent an average of 20 mimutes per day at the library.
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Exercise B
Mow do these:

Mamice recorded her correct answers in Mathematics quiz for 3 days.
M W F
15 18 9

(n) How many correct answers did she give in the 3 days?
(b) What is the average number of correct answers given.

Sue, Ann and Anil saved money 1o buy a new ball.
Together they saved $450. What is the average amount saved by cach child?

In a school there are 210 children. 1f 96 are boys and 114 are girls
and there are 6 classes in the school, what is the average number of children in a
class?

Ann wanis a spelling average of 15 words in one week. She has 5§ spelling lessons
in the week. Her scores so far are 13, 16, 14, 15
What must her last score be, so that her average will be 15 words?

Let us find the answer,
(i) What do we know?
We know that (a) the average is 15,
{b) the number of scores to give this average is 5.
(c) 4 of the scores are 13, 16, 14, 15
(i) How to use what we know?
Avernge = sum of the scores + number of scores
15 =sum + 3
15%5 =sum = 73
75 is the sum of 5 scores,
If 5 seores =75
And 4 scores =134+ 16+ |4+ |5=58
Then the last score =75- 58=17
Ann's last score must be 17 words.

Let’s check
Suim of the seores = 13+ 16414+ |54 |7 =75 words
Average score =75+ 5=15wonds.

Exercise C

There are 1] boys on a football team. Their average height is 66 cm.
The table provides the height of 10 boys. What is the height of the eleventh boy?
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2. Three children read an average of 68 pages a disy. I two of them
read 76 and 68 pages, how many pages did the third child read?

3. The average moss of 5 parcels is 62 kg I the avernge mass of 3 of them is 66 kg,
whiat is the average mass of the other 2 parcels?

4, In 6 years father guined 42 ki, What was his average weight pain per year?

REVIEW
1. The chari below shows the heights of § pupils.

What is their average height?

2.  Find the average of:
(n) 8,587,115 {c) 137, 64,72
(b)4,5,0,9,7 (d) 39, 47, 48, 45, 46

3. () Three picces of coloured paper are 52, 37 and 42 cm long
What is the average length of the 3 pieces of paper?

(k) Jackie's score on 3 science lests were 84, 86 and 91. Whal was her average
score?

{e) The chart below shows the daily atiendance of four classes on Monduy.

What was the average attendonce of the 4 classes on Mondoy?
{d) Find the avernge mass of 5 persons whose masses are

63 ke BOkg TOkg 84 ke Tk

(e} 1432 m of string was used to fly 8 kites, what was the average
length of string for a kite?
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LET US LOOK BACK

1.  Findthe LC M of:
3and 8; 20and 15; 2and9

2. Work these:
3 1 3 3 1 1 .
(@) =+ = by 2 + L+ X1 &) L+5+-
}5 . 7 T -7 2 3 9
@1-5 eB.2 (n 3.5
12 12 2 3 4 12

3. Draw a pentagon.
How many sides and angles are there on your pentagon?

4. Aaron made a shape using 6 picces of sticks, He called it a polygon.
What is the name of the poalygon he mada?

5. Name these angles.

(1) )

ib) e (d)
o [ I

6. In 5 days a work gang cleared 320 garden beds. On the averge,
how many beds were cleaned in a day?

7. Findnif:
Grn=48 B=xn=T2

8 Anumber divided by 6 gives the quotient 7 and o remainder 3. What is the
number?

9. {a) Which of these is divisible by 37
23, 32, 36, 50, 64

(b) Which of these is divisible by 57
27, 43,45, 73, 81

T



UNIT 16 DECIMALS

Decimals as Improper Fractions

Here are 3 metre sticks,
Each metre stick is divided into ten equal parts,

There are 30 tenths in all, That is, ?_g

How many tenths are shaded?

% are shaded. This is an improper fraction.

It means 2 whole sticks and L 3 T of the third are shaded.
27

10
2 mq.bcwnnmasn&echnul 2 ? =27

can be written as o mixed number 2 2 T

Mow study this:
May had 5 pots of food to be sold at the school's fair.

She sold 4 pots and = ul'the fifth pot of food.

In all she sold -'I & pots of food.

This means she sold ‘% of the food.
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Exercise A
I.  Copy and complete the table below. The first is done for you.

Each is divided into 100 equal parts. Each part is one hundredth or .
In diagram (a) each part is shaded. The whole or 1 is shaded. 100

mmn?mmm(%]hmmm 147 is shaded.
Mmimpropﬁ&utimwcwﬁml%

As a decimal it is 1.47
We read the decimal as: one point four seven

have 2 places after the decimal point.

T




2. Wnite as improper fractions.

(x) 113 1 37 1.2, 24 312
100 100 100 100 100

(by 226 24 319 13 158
100 100 100 100 100

3. Wnie as decimals.

@ 24, 133 R 213 13
100 100 100 100" 100

my 3L, L 10 142 66
100 100 100 100 100

Decimals in Expanded Form

‘When we write & decimal number the point separates the ones from the tenths.
Look at this decimal number

235
Whole Number
& | R .
3x1=3 jlf_ﬂ:'i“
2 %10=20

We can expand decimals in the same way as whole numbers.
235 =2tens+ 3 anes+ 5tenths

=(@*10)+(3 % 1)+(5 = ]—'01

5
—_— +
= 20 3+ ]_ﬂ

= i 1
Hﬁ ar HT



Exercise B

I. Expand these:
(a) 29.6 (b) 13.1 (c) 38.5
(dy 163 {e) 352 (n47.1
(g) 527 {h) 60.5 (i) 719

Similarly wee can write decimal hundredths in expanded form.
Look at 46.59

The point separates the ones from the tenihs.

4 =10 =40

S0 46.59 =4 tens 6 ones § tenths 9 hundredths

= = Rl ]_L
(A% 10)4+(6% D+(5 % 5 I+(9% o)

5 9
- + o —
o d il T

= di 9
4%

2.  Complete these:
Follow the pattern used above,

(a) 28.13 (b) 51.62 (c) 634 (d) 124.67

(e) 37.45 (N 43.71 (g) 74.52 (h) 208.39



Add and Subtract Decimals

M T .
B

The dingrams represent pans of fudge thar Mrs Jones made. The shaded parts
she gave to her friends. How much of the fudge did she give to her friends nltogether?
W can find out by using either fractions or decimals.

4 3 3 12 ..
: + 5 + 0 - 10 or DA4A+03+405=12
0.4
0.3
+u|"
12
3. Complete these. The first is done for you
o oK L P
@WH* 0 "1 R TIMT
02+ 03= 05 YIS\ —
i e 92 | R
® 5" 10 ®© %" i
01 + 05 = 09 + 0] ™o
1.2 o 8,01 .
© %* - AT
07 + 02 = FTEE | —
4. Complete these:
W 02 0.4 43 58 67
« 09 +« D6 + 75 + + 53
by 1.6 49 I8 6.4 Y|
23 0.2 23 1.9 1.8
+ 47 v 31 + 59 + 3.0 + 03




Think ahout this problem.
Mary has 0.8 of a cake. She shared 0.3 of it 1o hor friend.
What part of the cake docs she have left 7

Mary would have 0.8 - 0.3 lefi
thatis 08

m) 56 (1) T T (e} B.5 (d) 125 (e 143
=02 =21 =33 =67 - 65
iy 200 2 242 (b} 30,1 M 427 M 583
- 158 - 139 - 12,6 - 238 - 245
2. Dothese:

{a) Subtract 9.4 from 13.2

ib) From 45.6 mke 42.9

{¢) Take 73.2 from 100.1

(d) What is the difference between 33.5 and 30.37
fe) What must be added 1o 12.7 1o make 15.47
i) Take 17.8 from 20.3

Add and Subtract Decimal Hundredths
Look at these items and their prices.

Lollipop $10 ‘Tottee $20 Chewing Gum $5

Cost of | lollipop $10, that is 0.1 of a hundred dollar.
Cost of | 1ofTee is $20, that is 0.2 of a hundred dollar.
Cost of | chewing gum is §5 thai is 0.05 of a hundred dollar

Cost of all the items is 501

$035 of a undred dollar,

B3



So the cost of the lollipop, toffec and chewing gum is § 0.35 of a hundred dollar.

Exercise D
1.  Now do these:
(a) 023 (b 064 e} 6,15 (d}
+ 0,75 +0.57 +2.27
(a) 3.07 +4.23 + 6.38 (b} .11 +2.18 + 5.06

(d) 23,75 + 9.62 + 10.11

Mow read this problem.
On Monday night power supply was off for 05:43 hours.
O Tuesday night power supply was off for 03:21 hours.
For how much longer was it off on Monday night than on Tuesday night?
The problem can be worked in this way:
05:43 hours
- 03:21 hours
02:22 hours

538 fe) 724
+ L.63 + 286

(€)30.46 + 1132+ 8.74

On Monday night power was off for 2 hours 22 muinutes longer than on Tuesday

night.
2. (a)

(b)
()
(d)
(e}

5.64 0.75 4.00 1821
-3.40 -6.53 = 1.62 - 16.35

From 17.09 mke 10.12

Subtact 25.16 from 40.01

What is the difference 54.76 and 43.98 7
§6.35 minus 73.87

36.52
-21.89



Copy and complete this table:

(1) What is the place value of the 4 in the numeral 54.6137
(k) What s the place value of the 8 in the numeral 82.4767
(¢) The place value of the 7 in the numeral 13.726 is —.
(d) The place value of the 9 in the numeral 78.549 is —.

Expand these:

(n) 59.82 () B1.95
{b) 94,36 (d) 125.78
Add these:

(m) 26.3; 5.09; 11427

(b) 8.76; 43.08; 153.9
{e) S4.28: 6.713; 208.5

(a) From 7 take 3.21

(b) Subtract 14.67 from 20
{c) 60.53 - 25,675

BS




UNIT 17 GRAPHS

Here are some graphs,
15

aa

251

5t

1oL
s
9 0 11 12 13 14

boys girls coffce  cocoa  chocolate

Can you remember the name of each type? Copy each and write the name below it
Pictographs
Here is some information about the children in a class,

i

9013
a

10

1

12

Twelve children are between the ages of 9 and 13: 3are 9; 2 are 10; 6are 11; and 1 is 12,
Malke a pictograph to show their information.

Read this:

Primary 3 has 24 children who travel to school everyday.

12 go by bus; 2 by car; 3 use bicycles and the others walk.

MNow make a pictograph to show this information. Use templates to draw boys and girls,

Bar Graphs

Use the information on your pictograph to make a bar graph.
Draw a bar graph to show the mass of four boys - Rishi 40 kg,
Harry 20 kg; Tom 30 kg and Mohan 50 kg.

Use templates of rectangles to build your graph,

Let | rectangle represent 10 kg,

Point Graphs
Mally's iemperature in one day was recorded as:
07:00 h 35°C 0800 h 36°C 09:00h 38°C

10:00 b 40 °C 011:000h 37 °C



Let us show Maolly's temperature on a graph.
4

Aol b

¥ 390
E L i -‘
8 3TE -

3 ,._—T
07.00 0XD0 DVoD (Do (00

We call this a Point Graph.

Use a point graph 1o show Danny's mass ower o 4-year period.

At age 9 he was 20 kg, he gained 5 kg in the next year, 10 kg the following vear
and by his | 2th birthday, he lost 5 kg,

What does the point graph look like?

Exercise A
1. This bar graph tells about the fruits that children in Primary 3 like.

Mo, of children

Cunve Hemns  Genip  Mango

Study the graph and complete the fallowing :
(a} How many children like each fruit?
(b) Which fruit do most children like?
() Which fruit do least children like?
(d) How many more children like banana than genip?

2. The pictograph below shows the ages of some children.

f 5
& [ Key
s 1§18 (§[Tbon
i BE] JERENE) 2 lrls
¢ % % % oIl @
Age in yin

Study the graph and complete the following:
{a) How many children are six years old?
(b) How many girls are ten years old?

&7



(c)
id)
(e}

Which groups have boys only?
Which group has girls only?
How many maore girls than boys are eleven years old?

The graph below shows the movement of o man who left
town A at 09:00 h for town B.

.f’""'l'l#

Halsaee in Km

| //

Study the graph then answer these:
{a) How many km did the man travel in:
the first hour? the second hour? the third hour? the fourth hour?
(b} What was the time when he was 15 km from town AT

{c) How fur away was he from town B at 11:00 h?
id) How many km had he completed at 12:00 hour?

The pie-chart below shows how the children in Primary 3 use their garden plot.

Study the chart and answer these:

(a) Which crop takes up the largest part of the plot?
(b} What is planted in the second largest part of the plot?
{¢) Which ¢rop takes up the ssme space ns black-cye?

{d) Two crops which take up halfof the garden are .........ond (.

(e) Pepper i5 Brown of .....eeee. of the garden plot.

REVIEW

Work in groups.

Build simple graphs and pie-charts from things in vour home surmoundings.
Supply simple questions to graphs you made up.

Take tums to answer the questions,

Display your graphs in the Mathematics comer in vour classroom,
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UNIT 18 NUMBERS

Roman Numerals

You can have fun writing Roman Numerals.

Here are some letters the Romans used.

LV X L G DM

What numerals do they represent?

Points to remember when writing Roman Numerals.

(a)
ib)

(e}
(d)
(el

Some letters are repented, e.g 111, XX

Whien a letter is repeated the numbers are added e.g
Mmeans 14+ 1+ 1 =3 XX means 10+ 10=20

A letier can only be repeated three times in suceession,
V and L are never repeated.

Twa or more letters ean be written together.

(f) When a letter of greater value comes first add the value of the letter.
eg. Vliiss+1l=6 XVisl0+5=15
() When a letter of smaller value comes first, subtract the value of
the first letter from the value of the second.
cg.Visd-1=4, IXis10-1=9 XLis50-10=40
(h) 1ecan be subtracted from V and X only. X can be subtracted from L and C only.
C can be subtracted from D and M only.
Exercise A
1.  Wnoe in Hindu-Arabic Numerals:
(a) 1X (b) XXXV1 (o) XXIV (d) XI1X (&) LV

(HLXXN () XIvV (h) LV (i) XLvH () LXvI

2, Write Roman Numerals for;
(a) 11, 40, 30, 70, 59, 49, 90
(b} 32, B6, 66, 26, 43, 99, 1949

3. XXNIXis10+ 10+ 9 =29 Follow the pattern and do these;

(a)
c)

LVILAS:  sesiasivussmiaaiia (B) XLIV' 18 . ooiisrmvssninnns
55 4§ 5 . (d) XXXVILis .o

The Romans also used 100,
They used the letter C to represent 100,
We can follow “Points To Remember’ when using the letter C.

Example ;

l.  CCisC+C=100+ 100=200

Look at the other examples. Give the rules for them.
2 CVisl00+5=105

3. XCis100-10=90
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Here are some Roman Numerals you have leamn and the Hindu-Arabic Numerals for
them.

1@ z]r]e

HINDU-ARABRIC | 5 10 ) 50 | 100
Exercise B
1. Write Hindu-Arabic numerals for these., Use the table above and the roles leamt.
(a) VTI XV LXXTY XL xC
(b) XXIX  LXIN XXXn XCIX XLV

2. Here are numerals up to 100 written by tens.
Arrange them in order beginning with 10.
XL, XC, XX, LXXX, X, XXX, C, L, LXX, LX.

3. The clock shows the time using Roman Numerals,
() 'What time is shown on the clock®
(b} Write the time using the 24-hour clock time.

Round Numbers

Guessing Game

2 About how many seeds are in the jar?

We often estimate when we do not know the exact number.
We do so by rounding the number,

We can use a number line to help us round numbers.

Look at this number line.
| | | | | | [ | I | |
6 61 62 63 64 65 &6 67 68 69 T0

62 is between 60 and 70,

15 it closer to 60 than 707

‘We see il 18 closer to 60,

S0 62 rounded to the nearest ten is 60,



Look again at the number line,
Is 67 closer to 60 or 707
67 rounded to the nearest ten is 70,

Look at 63, 1s 65 closer to 60 or 707
65 rounded to the nearest 10 is 60,

We can round numbers to the nearest 10,
We can round to the next ten or to the ten before.

If the digit in the ones place is 0, 1, 2, 3 or 4 round {o the ten before.
e.g. 64, 63, 62, 61 are rounded to 60.

If the digit in the ones place is 6, 7, & or 9 round to the next ten.
e.g. 66, 67, 68, 69 are rounded to 70.

65 iz in the middle of two tens, It is neither closer to 60 or 70.

In such a situation, round to the even ten i.e. 6 tens or 60,
75 to the nearest ten is B0, 85 to the nearest ten is 80,

Exercise C
1. Round these numbers to the nearest 10
(a) 21; 6%; 39; 47; 25, 54; 72; 16; 63; 85,
134 comes between 130 and 140,
15 it closer to 130 or 1407
S50 134 rounded to the nearest 10 15 130,
(b) 135; 207; 331; 342, 256; 479; 128; 618; 564, 483,

We can also round numbers to the nearest 100,
You can use a number line to help you.

2.  Round to the necarest 100,
Use number lines io help you,
620; 371; 450; 876; T12; 635; 792; 345; 560; 308

We can round numbers o the nearest thousand.

Example:

3970 rounded to the nearest 1000 15 4000,
1316 rounded to the nearest 1000 is 1000,
4500 rovnded to the nearest 1000 15 4000,

When rounding numbers to the nearest 1000,
the digit in the hundreds place helps us to decide
whether to round up or down.

21



Exercise D
I.  Round to the nearest 1000,

8276;  3009;  TE2I; 2347, 5006; 1798  6240; 1814

2.  Copy and complete the table. The first one is done for you.

Estimating answers using rounded numbers, Look at the problem:

71 without working it we can tell the sum. Let us
+ 52 round the nddends.

70 Mow let us find the exact sum 71
+ 52 + 50 + 52
The sizm 15 aboui 120 123
We can also estimate differences.
#1 round — B0 The exact difference #1
-3 — - 30 - 34
The difference is about 50

Exercise E
1. Reund each number to the nearest 10 and estimate the sum or difference.
Find the actual sum or difference.

(a) B3 58 6l a3 267
+ &2 + 43 + 52 54 + 141

+36
(b) 52 91 732 7 556
- 13 - 24 - 119 - 54 - 108
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2, Round each number to the nearest 100 and estimate the sum or difference.
Find the actual sum or difference.

(a) 283 427 450 242 i7s
+ 319 + 124 + 547 + 426 + 180

ib) 623 T2 967 404 382
+ 156 - 325 - 160 - 217 - 205

1. Round esch nuimber to the nearest 1000, Estimate the answer.

fa) 3347 4294 1978 6005 5192
- 2160 - 2312 - 1564 - 52649 - 3750

Estimating Products

31 =47
Finding the answer. Rounding each factor and then multiply,
31 rounded to the nearest 10 is 30 Let us find the exact product 3
47 rounded to the nearest 10 is 50
30 = 50 = 1500 1]
The product is about 1500,

L
i
-

25

&
et

Exercise F
l.  Try these, Estimate the products then find the exact product.
{a) T8 16 f67 309 246
® & w § P | w T ® 3
(b) 32 a7 59 B0 371
x 17 % 12 % 31 x 41 x 38
REVIEW

l.  Write using Roman Numerals:

{n} The number of children in your class.

{b) Your age and the age of the members of your family,
(e} The number of days in the month.

(d) The year you were born.
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2,

3

Write from 1 to 100 using Roman Numerals,

Below are sonme iteme. Round the number of grams to the nearest ten,

e i

454 g

336g

Mrs. James has $1000. She wants to buy three items costing
$465, $375 and $239. Round the price for each item then find the total cost,
Does Mrs. James have enough money to purchase the three items?

How much money is needed to pay the shopkecper for these purchases?
100 g sugar 354,
I tin of milk S1940,
| box of biscuits $245,
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UNIT 19 SETS

Equal and Equivalent Sets

Look at these pairs of seis.

Describe each.
(a) {n,e.i,0,u} lo,u e n i}
(b) {bat, ball, boy} {girl, doll, hat}

In (a) both sets show the set of vowels in the English Alphabet,
The members of both seis are the same.
S0, the number of members in both sets is the same.

If the two sets have exactly the same members,
we say the sets are equal.

Are the sets in (b) equal?
Do they have the same members?
Do they have the same number of members?

IT two sets have the same number of members,
we say the sets are equivalent.

Exercise A

l.  Copy these sets. Write equal or equivalent in the space provided.
{2) [Monday, Tuesday, Wednesday, Thursday, Friday)
{Monday, Tuesday, Wednesday, Thursday, Friday} . ..o

(b) {3.6,9 12, 15, 18} 12,4,6,8, 10, 12}
() {+-=/) {* ==V}
(d) {red, yellow, bluc) {red, yellow, blue}
(e) { | { e ————
(1) {10,20,30, 40, 50} (50,40, 10, 20,30} .
[Equllmwalmuqui“kmm.
Equivalent sets are not necessarily equal sets,
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2 (a) List 4 pairs of scts so that cach pair is equal and equivalent.

(b) List 4 pairs of sets that are equivalent but not equal.

Subsets
Look at these sets.
(i,o.a) fa,eiou)
All the members of [i, 0, a} arc also members of (o, €. L 0, u}.
8o, {i, 0, a} is a subset of {a, ¢, i, 0, u}

Are all the members of {i, v, g} members of {a, e, i, 0, u}?
Is {i, v, q} nsubset of{a, e, i, 0,u} 7

[ If all the members of a set B are contained in J

another set A, then set B is a subsel of sct A,
We write BC AL * © " means “is & subset of

Exercise B

1. Which arc subscts of (2, 4, 6, 8, 10}
{a) {1,2,3) {5.7.9, 10}
(b) {4} {2, 6,8}
(c) (10} {2.4.6,8,10)

List subsets of this set. Use the symbol C:
{10, 15, 20, 25, 30}

Here are two sets - A and B
A= |ormnge, mango, banana, cashew), B=| |

Set B has 2 members,

(a)  Which of these may be set B.
lorange) |cashew]
[mango, apple) {banana, mango|

{banana, mango, cashew]  |cashew, grape, orange|

(b) List members of set B in as many ways as is possible,

A set with no member is called the empty set. It is represented by |



REVIEW

(a)

(b)

(e}

(a)

(b)

Make these scts equal
[pen, pencil, book, eraser] |eraser)

{tca, milk, coffec] i i

{48, 12, 16, 20, 24 (24,16, 8)

Make oquivalent seis
{ | I |
1,2,3,4,5) l |

{ruler, paper, sharpener) { '
Make sets equal and equivalent to each of these,

[a, b, e, d) | |
| 100, 200, 300} | }
{hat, socks, gloves) | }
5= x5 +X) | |

List subsets of this ser. Use the symbol = :
i i G, v, w, v, i)

Which cannot be a subset of the set in 2 (a)? Why?
I i, i) 1.2.3.4.5,6,7} | |

12,3 fv, 1w, vi, vii] tv. v}
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UNIT 20 MEASUREMENT
Litres and Millilitres

Collect containers like these and examine their capacitios. ﬁ
i
E———— I litre
1 tengpoon = 5 millilitres !-' 50 millilitres

Know that 1 litre = 1000 millilitres.
) -0 -
sPEsspemEEs
Use your containers to check these,
(Ilﬂ {b)
r' \\-i’ﬂ} U W
K . . . =-l-!!i!l¢l-lj-’:

Study these:

1 =1000m/ I lite = 1000 mi

20 = (100D + W00) md 6 lires = 1 00 md

or (1000 = 2) md = 2000 m/ 1000 mf 1000 mi
1000 mf or xf
1000 mf H000 ml
1000 mf S
1000 mf
6000 mi

How many milliliires are there in 7 litres?
| bire = 1000 m/
7 litres = 1000 mJ



Exercise A

1. Change 1o millilitres:
a) 4 ltres, Ilitres, Glhires, S Fitres, 12 Nitres
b) 9 litres, T hitres, 10 Nires, B litres, 10 bitres

1NN md = | litre
| millilitre is o small part of a litre

| mf= IO:II litre i.e. | md is o fraction of & lime

Study this:
(a) tml= —ons-f Change 6000 m/ to litres  (b) Change S000 m/ to litres

l [

T000 w GO0 = 6 [ 1000 W S000 =5}

Exercise B
I. Change to litres;

{a) 3000 end, SN0 ml, TOO0 m/, 10000 mi,

() SO i, 2000 mf, ROO00 md, 4004 mal,
W can write the units i onder:

:iruem: :n:ilinu{dn; centilitre (ef);  millilitre (mf)

0 0

The one thousand represents | litre or 1000 millilires.

litre if),  decilitre (dfy;  centilitre (cf);  millilitre (md)
1 k| [ 9

1360 ml =11 369 mf
= | 3691

litre (1) decilitre (dfy;  centilitre (ef);  millilitre (m/)
[ 5 0 B

6508 ml = &1 508 m/
= 65081



! dl eof mf

389 0

IR mf =3/ B90m/
= 3800/

Exercise C

Now try these:
(a) 5670 m/ =57 670m/=56701 (d)8325m! (g) 4639 mf
(b} 5003 m/ () 4121 mf (b} 1001 md
(€) 2136 m/ (N4216ml (i) 7653 m/

Study this,
Change & / to m/
{ dl ef mi
6 0 0 0 =6/ or6000m/

Change 7.536 / to m/
I dal of ml
7 5 3 6 =7536/0r 7536 mf

Change 8.5 [ to m/
I al ef mi
8 53 0 0 =8535orB500mf

Exercise D

1. Change to millilitres:
(n) 6.543 ] (e} 7.532 ] )55 1 () B.981 /
(b) 8.504 / (d) 04251 (0 7.003 1 (h)0.516/

2. Solve these problems:
() A bottle contains | litre of oil. How many millilitres is this?
How many millilitres will 4 such bottles contain?
{b) Mother bought 1/2 litre of syrup. She used 38 m/ 1o make some drink,
How many millilitres of syrup remained?
(e} A bottle contained 2 litres of milk. The milk was poured into 20 glasses
of equal capacities. How many millilitres of milk was in each glass?
(d) There were 650 m{ of liquid in one container and 420 m/ in another.
These were poured into a litre bottle, How many millilitres of liquid remained?

(e} 6000 m/ of oil were poured into litre containers, How many conminers were
filled?



Conversion of Foreign Currency

Some time ago, U'SS1.00 was equal 1o GS190
ITUSS 100 = GS190, what would be the value of US52.00 in Guyana dollars.

e R,

G3190 Gs190

USS1.00 = GS190
USS2.00 = GS190
x2

GiS380

s

GS190 GS190 GS190

USS1.00 = GS190
USS3.00 = GS190
=3

GS570

What would be the value of US$3.00 in Guyana dollars?

Exercise E
I ITUSS 1,00 = GS190, what is the value of these amounts in Guyana dollars?
() LISS4.00 (b} USS5.00 (&) USS6.00 (d) LUSE7.00
(e) USSI0.00  (NDUSSI200 (g) USSIS.00 (h) US$25.00
At another time USS1.00 was equal 10 GS200
Ussion = GS200
So USS2.00 would be worth GS200 = 2 = GS400

2 IUSS 100 = GSI95 find the equivalent in Guysna dollars for:

]



Now (5200 would give US$1.00, another (5200 would give another UUS$1.00 and
repeat until the U$320 is finished. We arc dividing $320 into parcels of $200
S0 G320 will be

1.60 .
How much will G480 be in US currency at the same mic.
240
200) 480
Ci$ 480 = USS 2.40
3. Change to LSS if USS1.00 =G$200. Now try these,
(W) GS120,  GSBO, G200, GS160, G560
(b) GS400, %440, GE240, G400, GS280

4. Change these to Canadian currency if the exchange rate is CDNS1.00 = GS140
Gis416, GS208, G520, Gs1040, Gs312

5. Solve these problems:
(a) A bag was priced at G3750. If the exchange rate is USS1.00= G§200
What is the price of the bag in USS 7

(b) Harry ook USS10.00 1o change ar the cambio. If the exchange mate is
USS1.00 = G3275, how much Guwana dollars would Harry get in exchange
for his US$10.00 7

{e) IFS1.00 Barbadian is equal to $20 Jamaican, convert the following.
BS3=J%; BS7=1%; BS=JS100;  BS=J5250

Study the exchange rates above then complete these:
{a) Change the following to Guyana currency,
(i) WUSS20 (iv) StgfS
(ii) TTSIS (vl US54
(iil) CdnS10 (vi} BdsSI0
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(kb) Change the following:

() GE750 = £..... (iv) G624 = Cdn§ ...

(i) G%390 = USS..... (v} G$396 = Cdn§..... o

(iil) G210 = Bds§..... (vi) GEIP2 = TT$.cn
REVIEW
l.  Change to millilitres:

61, B, 325 mi, 6I300ml, 31101 160387
2, Change to litres:

T mi, 3649 mi BO00 wed, 3000 mt, SRO3 md, 3200 mi
3. How many 50 m/ bottles can be filled from a container of 2 f ol?

4. ITT$1.00 =G536

{a)}) How many Guyana dollars can be exchanged for:
TTS10.00  TTH8.00 TT$15.00

(b) How many TTS can be exchanged for:
G564 G5224 G3384

5. An article priced at Cdn.$ 15.00 was bought in Guyana currency, What 1% the value
in G, if Cdn$1.00 = G§ 1407

LET US LOOK BACK
1. Copy and compleie this able,

3& e
T g
3
111
108
100

108
100

2. (n) Whatis the place value of the 7 in the numeral 23.767
(b) What is the value of the 3 in the numeral 45,8337
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Add these ; (a) 4.5, 0.3, 2.65 {b) 3.7, 0,52, 6.41

(a) From 7.12 wke 3.6 (b} From 30,84 take 9.99

At the school fair Shawn and Dawn ate cones and tars.

Shawn ate 3 cones and 4 tarts. Dawn ate 5 cones amd 2 tarts,

Draw a pictograph to show this information,

(n) Write 59 in Roman Numerals,  {h) Write XLIV in Arabic Numerals.

Copy and complete this table.

Round 1o the nearest:
Numbers ™0 | 100 | 1000
046
1263
2572
47RO
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UNIT 21 MEASUREMENT

Capacity
Look at these measures

1 008 o

500 ml
' v

Read then answer the questions,

Mrs Grant used a one-litre container, a _1; litre container and a i litre
container of milk for her class.
Mrs Bassier used 2 one litre containers and a % litre container of milk for her class.

{8) How many millilitres of milk was used by Mrs Bassier's class?

(b} How many millilitres of milk was used by Mrs Grant's class?

(c) Whose class used more milk?

(d) 17 Mrs Girant had used 3250 ml insicad, how many 1-litre containers would

she have taken to her class?
Remember
1000 mi=1 4
lf-Fi-." - 1000 ml + 250 ml
= 1250 m/
or 3250 mf = 3 times ( 1000 m/ ar 10 + 250 mf
= 3/ 250 m/
Exercise A

. Copy and complete these:
t.u}r “Cmt (@11 =Cmt m;.z;:_r =Cmt
®4tt  =COm @3 4s0m =Omd W4 320m/=Jmt

)2 M0ml = JImi (N2650m! =C1Iml (i)3765mi =i mi

To change litres to millilitres we multiply by 1000,
Hence 2 [= 1000 x 2 = 2000 mi
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To change millilitres to litres we divide by 1000,
We can divide like this:

3.250
10007 3250.00
3000

2500
- 2000

5000

3000

0

Here is a shorfer way

We can use decimals

We know that the decimal point comes after the ones digit.
Take the decimal point 3 places to the lefi.

3250 + 1000 = 3.250

To change millilitres to litres divide by 1000,
When we divide by 1000, the decimal point
goes 3 places to the lefi.

Exercise B

1.  Copy and camplete:
(w1625 mi=L_11 3270mf=_1r 2962mi=[_11}
(b)6320mi=[11 4783mi=0_1¢1 5154 m/=[_1J

2. Andre drank 3 half litre bottles of fruit punch at the school party.
How many millilitres of fruit punch did he drink?

3.  Mother bought 2 one litre and one half litre cartons of milk.
How many millilitres was this?

4. Mr Gomes poured 2 litres of gasolene into his car. After driving for sometime,
he noticed that he had 750 m/f left. How many millilitres did he use so far?

5. Pam mixed 65 m/ of water with 635 mJ of juice. How many litres of
beverage did she make?

6. Mrs Brown bought 3 litres of kerosene on Monday. At the end of the week
she had 926 m/ left. How much did she use?
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Currency Conversion
A visit to a popular Cambio in Water Street revesled the following exchange rtes:
Foreign Currency Local Currency

Sig £1.00 GS340
LS81.00 Gs24
CdnS1.00 GS145
Bdss1.00 Gsioz
TTS1.040 G339

MNow look at these:

1.  The exchange rate is GS335 to Sig £1.00
How many GS can one get in exchange for Stg £6 7
Stg £1.00 G3335
Stg £6.00 G3335=6

GS2010

2. G200 is cquivalent to US$1.00. How many USS can be bought with G§19507

0.75
200 J1950
-1800
1500
—=1400
10000
d 1]

=US$2.75

Exercise C
1. Now do these:
{a) The exchange rate at a Cambio for US$1.00 is GE204. How many GS can
be bought with LIS$9.007
(b} Shawn received Stg £3 for his birthdsy. How many GS can he get for this
amdunt?
() How many GS can you get for:
BdsS8.00 TTH13.00 CdnS9,007
2. Use the rates given then use the current rate for each currency. Caleulate these,

For How Many

Gs USS | Stigk | Bdss | CdnS| TTS
2310 s
2280 R
966 |
1440 ——
3744 e
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REVIEW

1.  Express as millilitres: 2. Write as litres:
(a) 21 650 m/ {a) 3976 m/
{(b) 51 7235 mf {b) 4621 mf
(c) 61 93T m/ (c) 7563 m/
(d) 81 542 mf (dy 9278m/

3. Acrate contains 16 half litre bottles of milk. How many litres of milk are there in:
(a) | crate? {b) 7 crates? (c) 15 crutes?

4.  There are 24 pupils in a class. If each pupil receives 1/4 litre of milk each day?
How many litres of milk will serve the whole class for :
(a) 1 day 7 (b} 1 week? {c) | month?

5. Use the current exchange rates.
How many GE will you get for:
Cdn$7.007 USSIL00O? TTS23.007  Bds$15.007

6, (a) Anthony bought a pair of jeans for GS 1950, If he paid in USE,
what was the cost in that currency?

(b Atelevision set costs GS120 000, What would be the cost of this set in:
(i)Stg £7 (if) TTS? (iifi) BlsS?



UNIT 22 FRACTIONS
Multiplication
We can use a number line to multiply a whole number by a fraction.

T T T T T

i

I
A

E

ueit:—l—
=t
|-
w|u-—
ﬂu|u-—-

|
I

6
B

The number line shows o repeated addition
S e B A

L N B B

B & B B B ]
We can write this as a multiplication.

Think of § moves of %

Write 5 x L= %

.
C

Exercise A
I, Use a number line to do these.
Show each as repeated addition and as a multiplication,

@3xL  maxl @2l @1xt
@sx+  O2x4 @33 W7x
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We can change an improper fraction to a mixed number.
To do so we divide the numerator by the denominator,

- 13
B+5 I?

2. Multiply these:
x i —!'-.- x5
(o) 7 3

{qux% §x-L

Look at the diagram.
Read and find out what Pattie did.

In Cookery Class Pattic baked 6 buns.
She removed -;— of them from the pan.
How many buns did she remove?

We can show this on a number line.

f | |

o 1 2 3

- —
-
-

L of6

2
Both the diagram snd the number line show the same problem.

| - |
o e i W
2 of 6 15 the sume as 3

! Nt Iy
3 * 6 or 3 of 6 3 1
|=_.ﬁ_ == i
2 F)
-3 -
3. Work these:
I 2 i 9
X it ey =~ 100
{u) s of 12 5 of 30 = of 7 B 1
) -g-ufzﬂ %nf!d %uf'i %uﬂiﬂ
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Let us multiply a fraction by a proper fraction

{a) Take a rectangular piece of paper.
(b} Fold it twice vertically to show fourths.
{c) Fold ngain, this time in half, horizontally.

i N
{ﬂlmznfq

What fraction of the rectangle is shaded?

af

Lor L
2 4

Replace “of™ with *=" and multiply _il'_ % .:. - %

Exercise B

1. Write multiplication sentences for each then find the product.
The first is done for vou,

2

3

mi—-
[ fu

._,l_.
p
U‘l“
']
k1
e

-h|w
®
'-|-||M

multiply the numerators 3 = 2
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A product of two fractions may not always be in its lowest terms

W s e
Example: 3 ® =1
2. Multiply.
Write the products in lowest terms;
&y I & s i
@5 *3 7 Ty
o e 1.3
® >3 4 a 58
g 3 1.3 2 1
T s 1 3"
B & B e ) ey
@™ 3 T % 25
3.  Copy and complete these:
Tlmfuﬂun:mdnmfurynu_
T T E
R S I e - ]
§UE TR e
2.1 _ 2 1 %9
Therefore =% — = = — .
R s e T T
(a].z_xlz'.I:ExL__] [h}l:i:D;D
5§ 5 2
{.:]l:u:L:E]xE [ﬁ}ixL:DxD
7 4 12 3
[u}%n%ﬂ:]n[j m%x%ﬂjslj
Multiplying with Mixed Numbers
Change the mixed number 3!1L
to an improper fraction = 3= —;-—
_15
2
1
=74
2
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Exercise C
1. Multiply these:

()34 B+ %47 3xl 10x 14

®1+ =36  Sx13 0% 15 4t x2

(€)8x24 43 x5 2% 34 3t %6
4 3 1 3

Here is another way.

Follow it very carefully.
Remember to change all mixed numerals
I% : IL I]}imprﬂpﬂ Ill.'ﬂ'.'dm. bﬂfmem.lﬂlplj' iﬂ!-
5 5 _2s8 1
[ _—— = 2_
5, % I3 R
2. Try these:
@6+ x4 M1+ x2+ (@3 =25
@3+ x4F  @25x2+ O1Ex1

Cancellation
Study this: Look ot it this way
i 24 = _4..
Y x 5 24 3
4
2M4xq _ x4
6 6
1
O
=18 o ]
&
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3.  Use the cancellation method to do these,

@3F*xE  mysxag ©4+ %23
()15 =5 (e) 75 % 24 (012 <+

| 2 | 1 . 1
@45 =45 )35 =+ (i) 5 %20

4. Solve these problems:
{a) Inabread bin there were 5 loaves of bread, If father ate L of
Ih= number of loaves how many loaves remain?

{b) T of a class of 30 pupils paid for a magic show. How many pupils
paid for the show? How many pupils did not pay?

(c) A scamstress has 2— metres of ribbon. If she uses 2 times that amount
to decorate a dress. How many metres of ribbon will she need?

REVIEW
1. Multiply by: 1,6,3,4
Find these products:
@Fx3  ®xH @ Fxy

3. Ifahugmnlninsd-,-"—lgcfﬂm.mmykguf&umwillIherebc:iniwnh
bags?
4. The newspaper boy rides 2+ km from home to the printery.
How many kms will he ride if he does this twice a day?
5. Ammnl:hﬂI%timnfwﬁm.ﬁnwnﬂmhnmi%limm
thiz amount at the fuel station. How many litres did he purchase?
How many litres are there in the tank after the purchase?

6. Acount of the 30 vehicles that passed by a schoal in a day revealed:

%Wﬂl‘tnﬁ.ﬂihuﬂﬁ meumm and — Il — were motorcycles.

How many of each type passed by?
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UNIT 23 PERIMETER

Use pieces of string 1o measure the lengths around the edges of each of these objects
in yoir classroom

Check the length of each edge on a ruler
Record the length of cach edge

Find the total length around this book
The lengths around the edges of this book are
Bcm+4cm+8Bem+4cm=24cm

The distance or length around any shape 15 118 penmeter

The perimeter of this book is 24 cm

Find the penmeter of other shapes around you

Use enrdboard cui-outs and pieces of string 1o measure the lengths around their edges.
Check the lengths on a ruler and record each in centimetres.

Find the perimeter of cach shape you worked with

Remvember
Perimeter is the distance around a closed shape

Exercise A

| Find the perimeter of each shape

1.5 em

1

I omy g ls &
iy T
4 ik ban 4 ¢ina | 135em
Iem 1.5 gm |
 bem
1 ™
Bemd NS om
Ycm
!
& o
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2. Find the length of the side marked X

3 om
per.

4em), 1Bem o
dcm

3. Read and work:
{a) What is the perimeter of a triangle with sides 5 em, 6 em and 3 em?

(k) What is the perimeter of a square with sides 4 em long?

4. (a) Tom ran 3 times around a playground with length 14 m and width 12 m.
How many metres did he run?

{b) Find the cost of putting 1 row of wire around this playground, if the wire costs
£100 a metre.

Perimeter of Rectangles S &

In a rectangle, the opposite sides are equal.
A rectangle has 2 long and 2 short sides,
Here is a rectangle.

Can you find the long sides and the short sides?
Are the measures on the long and short sides equal? Why?
Let us find the perimeter of the rectangle.
Length of long side =5 cm
2 long sides =5 = 2 em
Length of short side = 2 cm
2shortsides=2 = 2 cm
So Perimeter = 2 long sides and 2 short sides
Perimeter (i) = (2 = 5) +(2 = 2)
=10+4
=14 cm
ar (if) = 2 times the sum of the long sides plus 2 times the sum of the short sides.
=2x=({5+2)
=2%T=14cm
Can you think of & formula for finding the perimeter of rectangles?
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Exercise B
1. Use vour formula. Find the perimeter of these:

8) feom

4cm

Look at this shape.

The perimeter of this shape is 40 em.

The longer side is 15 cm. What is the length of the shorter side?
We know that the perimeter is 2 long gides + 2 short sides = 40 cm
Long side=15ecm

2 long sides = 15 » 2 = 30 cm

If long sides + short sides = perimeter

Then perimeter minus long sides = short sides

40-30=10¢em ,

2 short sides = [0 em

Shortside=10+2=5em

2. Find the length of the side marked x om each shape,

1)

Yem

3. (a)} The perimeter of # rectangular lawn is 36 m, if the opposite sides are equal and
the length of one side is 10 m, what is the length of the other side?

(b) A rectangular ficld has 2 sides 16 m cach. If the perimeter is 56 m,
what is the length of the other pair of sides?
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REVIEW
I.  What is the perimeter of each of these?

fBcm 4
& o A
2com
om 2 om
dem 6 cm 3.5em

2. Find the perimeter of a rectangle with sides 10 cm and 8 cm.
3.  The penmeter of a square is 44 cm, caloulate the length of its sides.
4. The perimeter of the square in the diagram below is one-third that of the rectangle.,

‘What is the perimeter of:
the rectangle; the square; the toial shape?

I

Jom

|

— [20M ——
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UNIT 24 FRACTIONS: DECIMALS

Fractions as Decimals

Can you remember?

Factors of 10 are: 1, 2, 5 and 10,

Factors of 100 are: 1,2, 4, 5, 10, 20, 25 and 100.

Some multiples of 10 are ; 10, 20, 30, 40, 50, 60, 70, 80, 90, 100,

Some multiples of 100 are: 100, 200, 300, 400, 500, 600, 700, 800, 900, 1000,
Look at these frmctions

| 2 3 5 6 7 300

2 3 10 20 25 100 400

Read the denominators, What do you notice about them?
The denominators are all factors or multiples of 10
We can write these fractions as decimals like these:

A = I e SR
(n) T 0.1 100 .01 T 0,041
(b) Ty 0.2 T30 0.0z T 0.002
i 3__ B
(<) i .3 100 0.03 1000 0.003
4 4 4
dy —=04 —— = {i.04 —— = {,004
C 10 100 1040
Exercise A
1.  Write these fractions os decimals:
5 6 7 8 9 10 11 12 13 14 15 132 164
1w 1w 10t 1w 1wt 1wt Wt oW w1t oo

Look at this:
Change % o decimal
To change % o decimal we first change it to tenths.

L: I %2 2
3 F ¥ 10
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2 1
W S —=02

To change ]s—uml-hinﬂ.m:ﬂntd-npilhhﬂuhh

£ 33 A0 20
@ 5 100" 50
1 6 8
(®) z" 25" 10
9 13 3
{c] ﬁ'l C] s
Now look at this:
m%nnm

We can reduce the denominator 20 to 110 by dividing by 2.
So we also divide the numerator by 2.

B3 et 6 .

20 10 10 i 20 “

3. Reduce these to equivalent fractions of denominators 10, 100, 1000,

then change 1o decimals.

(n) %~ b ol (b) o (c) )
36 16 16

(d) 120 (e} m in 0
12 3 14

® % () 0 M 3
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Decimal Tenths and Hundredths

Use 10 strips of paper. Divide each into 10 equal parts. k
Shade 7 parts on cach strip. =

CT T
T
10 strips show . shaded
100
Ome strip shows -l-'ru— shaded J0 - 0,70
D
i
Exercise B
| Copy and complete these.
The first is done for you.
I = i: i:‘ - I _|
W) = ~5=05 ® < =03
1.3 _ 2. =]
T =050 : -
(©) %-:I—I: (d) —:-=E-|:|
L= == [J=[]
2. Write True or False:
) 0.7 = 0.70 b 2 = 200 (c) 550 = 550
() 04 = 004 (e 130 = 1.3 N 46 = 460
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3. Copy and complete the table:

Tenths | Hundredths
0.5
0.70
09
35
6.30
4.6
10,80
152
Grams and Kilograms

The gram is the basic unit for measuring mass. It is a very small measure.
There are 1000 grams in | kilogram
1000 g =1 kg
The kilogram is more commonly used.
To change kilogram to grams multiply by 1000,
e.g. How many grams are there in 5 kilograms?
5% 1000 = 5000 g

Exercise C
I. Change to grams;
@7kg ()3ke (@8kg @6ke (dkg (A12kg (g)10ke

Mow look at this:
How many grams are there in 5.8 kg?
5.8 = 1000 = 5800 g

When we multiply a decimal by 1000,
the point is shifted 3 places to the right,
In 5.8 = 1000, zeros are added to show the movement of the point
and the increase in value of each digit.
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2,  Change to grams:
(n) 5.6 kg (b)1648kg (c)1239ks  (d)4.B6ke
(e} 415.1 kg (f)3.07 kg (g) =42 kg th) 3.612 kg

To change grams to kilograms we divide by 1000,
For example:

8000
K = kp=§
000g= Yoo k&= 8ke
8000 g = 8 kg

3. Change to kilograms,
{a) 750g (b) 320g (c) 500g (d) 800g
(&) 32000 g (1200 g (g) 000G g  (h) 75000 g (&) 160000 g

Study this:

Change 62.3 g to kg.

To change grams to kilograms, we divide by 1000,

To divide a decimal by 1000 the point goes 3 places to the left.
So 62.3 = 1000 =0.0623 kg

4.  Change grams to kilograms.
(a)53g (b)6328 g (c) 80019 (d)567g (e)5bg

(13062 g (g) 1263625 (h)1934g M173g (13235 ¢

5. Solve these problems.
{2) Peter weighed three parcels and found that they had 3451 g:
1260 g; and 5011 g, What is their total mass in kilograms?

(b) How many bags of peanuts cach containing 220 g can be filled from 11 kg?

(e) Mother uses 500 g of flour o make a pie. How many kilograms
of flour will be needed to make 20 such pies?

(d) If 6.8 pof clay is needed to make an ormament, how many kilograms
of the same clay will be needed to make 100 of these omaments?

REVIEW

1.  Change these fractions to decimals:
11 & 2 5 &
5" 2' o’ 40" &' 100
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2 Copy and complete this table:

1 (a) Change to grams:
Tkg 12kg 164 kg 18.32 kg 3860 kg

(b) Change io kilograms:
IS000g  12000kg 1556g  284g  2g

4. How many packets of curry, 500 g each, can we get from a sack of 16 kg?
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UNIT 25 GEOMETRY

Line Segments
Place two dots or points some distance apart on your page
like this « .

Use other points to fill up the space between them

You now have a series of points.

What does it look like?

This series of poinis form a line segment which is part of a line.
A line is a series of points.

Exercise A

Here are some ling segments,
Copy and measure each with a ruler.
Record each length in centimetres.

(a) / V (<) / (d) \

List the number of points and name each point on these line segments:

(a) - -

[ =]

Line segments are marked by points and labelled using capital letters.
This ling has 4 segments:

- A 2] C D E -
What are the line segments used in each shape?
P
H
c s
Q
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4 Copy and complete:

a) — (b} ® (c)

Which shows: point, line, line segment?

Lines

Lines may be drawn in different positions.

Each position tells the purpose for which the line is used.
Parallel Lines

Look at these pairs of lines:

/I X

{a) (k) (<) ()

Which pair shows

Lines in the same direction?

Lines meeting each other?

What can you say about the lines in (c)?

Lines like those in (¢} are called paraliel lines,

Paralle]l lines

- extend in the snme direction.
- are eojunl distonee apart.

- NEVET MEet.

Horizontal Lines
Look at the line that seems 1o touch the sun ai sunrise
ar sunsel.

This line is across the honzon
Lines that are drawn across like this are called horizontal lines.

AR is a horizontal line. A B

Find horizontal lines in your classroom.
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Imagine this is a plumb line.

Do you think it can be held in a horizontal position? Why?
Lines in this position arc called vertical lines.

Vertical lines are drawn from top to botiom.

Are there vertical lines in your classroom?

Sloping Lines
Look ai these lines,

What name can we give o these lines?

Have you ever seen lines in this position? Where?

Lines like these are called sloping lines.

Sloping or slanting lines are usually seen on hillsides or mountain sides,
Try finding sloping lines elsewhere.

Say where you found it and what was its use.

Vertical Lines l

Exercise B
1. {a) Look around your classroom and identify pairs of parailel lines.
{b) Identify and name the paralicl lines in cach of these.

-EA‘. %

] (ii) (iii)
2. Name the horizontal lines in these:

) p J E (b) M
l‘I-I Z
G F
R
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3. ldentify and name the vertical lines in cach of these:

8
.
B
(i i) d
(iii)

4. Which are the sloping lines in these. Mame them:

(i)

: \—
¥ I
(iii}

REVIEW
I.  Copy and complete this table:
Lines | Names of lines
[
e
?’

2. ldentify and name the different types of lines in this dingram.




LET US LOOK BACK

1. {a) Change to millilitres.
6l 836171 81 326 mi
(b) Change to litres.
S000 ml 4352 ml 9306 mif

2. Smdy these exchanpe rates:
CdnSl=GS145  TTS1 = G539 Stg £1= GE340
Bdsl = GS102  USS1 = G524

3.  How many Guyana dollars must be exchanged to obtuin:
CdnS8  TTSI10  BdsSs USE12  Sig £37

4. Multiply these:

t Les 1
s Igyx3 y of 24

5. Asackofrice contains 45 kg. How muny kg will 3 sacks contain?

6.  OFfa basket containing 48 fruits, I'—Immgnu; L are oranges:

%mmmﬂ %mpurs.[—[uwmnyurmhtypﬂm}ﬂ!ﬂl?

7. {a) Find the perimeter of the shape,

{b) The perimeter of a piece of cardboard is 50 cm. If one side is 15 cm
what is the length of the ather side?

8. Copy and complete this table:

9. How many packets of butter each 40 g can be obrained from 8 kg?
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UNIT 26 AREA

Area of Irregular Shapes
Look at the leaf on the squared paper.

The surface of the leai wwes in vover asl e ayuaies wn we PEPET.
Let us count 1o find out the number of squares covered by the leaf.
Are all the squares covered, whole squares?
1. Letus count the whole squares (5)
MNow count the part squares  (12)
Avre all the parts equal?
Lt us count those parts that are half or greater than half {6)
We count each part that is half or greater as | whole sgquare.
So we have 5+ 6 = 1] squares
2. Letus look at the leaf again
Whole squares =35
All part sguares =12
We can treat part squares another way.
1f we use all the part squancs, some are wery small parts, some very large.
So we take all and divide by 2 (to even up the parts)
12+2=6
5 whole squares + & part squares = 11 squares,
The result in both is the same.
If each square is | sq cm then the arca is 11 sg cm.

( Area is measured in square uniu)
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Exercise A

1.  Find the area of these imegulsr shapes.
Remember 1o check the pant squanes.
Record the area as squares.

] (i)

2. Here are some other imegular shapes.
Find the arca of each. Record us cni’

(i) : 1 | (i) |

3.  Draw your hand and your foot on a picce of squared paper then find the area of
each,

| em
Area of Rectangles .
Here is a square.
Its sides are | em. It is called a | em square.
The surface of this rectangle 1s covered with lem squares,

How many squares are there in the top row?
How many rows of 6 squares are there?
How many squares are there in all?
Let us supposc this was a picce of carpet.
What is the length of each side?
What arca will it cover?
How can you find out?
|. We can count all the squares.
2. We can count the squares in one row and multiply it by the number of rows,
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3.  The number of squares in one row tells us the length of that side;
the number of rows tells us the length of the other side.
So when we multiply as in (2) we are really multiplying
the length of one side by the other.
This rectangle has sides 6 em and 4 cm
Soitsarea=6 =4 =24 cm’

Exercise B

1. Count the squares.
Find the length of each side.
Find the area of each in as many ways as vou can.
Your answer should be the same in any way you try.

2. Copy these in your books.
Find the area of each. Write the area as cm’

Jem

{m) (]

“\
a Remember

Area is the amount of surface space in any shape.

Area is measured in square units,

When the measurements are given in cm the ares is written ns

em” and read as square centimetres.

Arca of & square or o rectangle is the length of one side multiplied by
'\hlhe length of the other or one measurement by the other,
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Example:
{a) Find the area of the square: ib)  Find the arca of the

4 cm

The sides are 4 em ench. All the sides of o square are equal.
Sodxd=|6em’  Inthe case of a rectangle we take ong of ench
hee 3% 4= |2 o

4, The mble shows the lengths of the sides of squares and rectungles.
Copy and complete:

-..Ir m

5. Solve these problems:

{a) A postage stamp measurcs 42 mm by 24 mm. What is its area?

(b} Mr Munroe is 2 member of a Co-operative Housing Scheme.
He owns & plot of land 38 m by 22 m. What area of land does he own?

{e) A plague 10 em by 15 cm was presented to the winner of a competition.
She hung it on the wall. What area of the wall does it ocoupy?

(d) Alvin wants to make a table 7 m by 5 m. What is the smallest space
the table can fit exactly into?

REVIEW
I.  Find the area of the squares with sides
2em; 16em; 20 em; IS5 cm; 36 cm

b

Use these measurements to find the area of each rectangle
() Smmby imm; (b) 12cmbybom; (c) 25 emby 10 em

3. What is the arca of a rectangular lawn with sides 20 m by 15 m?

4. Apiece of carpet 3 m by 5 m is placed on the floor. What is the area of
the carpet”
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UNIT 27 SETS

Venn

Joe, John, Jack, Joseph, Jill and Jenny are pupils of the same class.
What do they have in common?

What diffcrence is there between them?

Let us place them in Set A,

A= {Jog, John, Jack, Joseph, Jill, Jenny }

Some children in this class belong to a Bible Club,

Let us place them in Set B

B = |Peter, Harry, Dick, Marie, Jenny }

We can show these sets in another way.

Who is the child in the middie?
Why is the child placed in that position?
Let us represent these scis in a Venn Diagram

The rectangle represents all pupils in the class..
Loop A represents the pupils whose names begin with J,
Loop B represents the pupils in the Bible Club.

The shaded part represents the pupil whose name begins with J and is also
a member of the Bible Club.

Jenny s in that position, She is in both sets.

She is in the shaded part of this Venn Diagram.

The shaded part is called the intersection,
Elements that are in both sets are shown in the inlersection,
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Study this Venn Diagram.

List all the elements in :

Set A, Set B, Set A alone, Set B alone, Bath sets A and B,

Those elements in both sets A and B are called the intersection of A and B,
We say A intersects B,

The intersection is indicated by the shaded pant of the Venn Diagram,
The symbal 1 is used for intersection.

The intersection of A snd B is written:

A M B and read A intersects B.

Exercise A
.  The Venn Diagram shows the number of girls in a class.

Set A [girls with long hair}

Set B [girls with blue ribbons}

How many girls have:

(i) long hair but not blue ribbons?

(i1} Blue ribbons but not long hair?

(iii) blue ribbons and long hair?

(iv) How many girls do not have long hair nor blue ribbons?

2. Draw a Venn Diagram to show all the whole numbers from | 10 20.
Let SetA = [even numbers from | 1o 20)
SetB = (multiples of 3 from | 1020}
What is A N B?

135



3, Primary Three made this Venn Dingram to show those who like ericket
and those who like rounders.
Set Clericket! Set R { rounders)

How many pupils like:

(i) ericket only?

(ii) rounders anly?

{iii) ericket and rounders?

{iv) neither cricket nor rounders?

{v) How many children are there in the class?
(vi) WhatisC N R?

4,  Draw a Venn Diagram to represent the following:
A={n. b,c,d e ff B=/|del g h)

Show AN B,

5. Study the table. e
M Girls Who Like:
Betty ¢ v
Simone i
Rohini i
Suih i/ v
Sue v
Jomer J

Using D for Dancing snd § for singing, place this information on a Venn Diagram,
Clearly show DN 8.

REVIEW
1. The Venn Disgram below shows students who swdy French{F) and Spanish(S).
Study it carefully then answer the questions which follow,

(a) How many students study:
French; Spanish; French only: Spanish only; French and Spanish;
Meither French nor Spanish?

(k) How many students are there in the class?

{c) WhatisF N 57
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Represent the following information on a Venn Diagram:
A =(1,83,64)

B =(13,891)

What is A N B?

In a class of 20, 7 pupils excel in Mathematics, 4 in English,
# in Mathematics and Science, and 6 in Science and English.
Represent this on a Venn Dingram. Show the interscclions,
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UNIT 28 GRAPHS

Tally Charts

The children in Primary Three started a tally chart to show the number
of vehicles that passed by their school in a given time,
Remember tH =35

L THL L L 18
£ I-_i': .

L T

il

Do all the vehicles show the same number?

Which shows the smallest number? Why do you think this is sa?

Which vehicle is most seen by the school? How can you tell?

We can say that the minibus is the most popular vehicle in the school area.

On a table like this, the most popular or most frequently oceurring thing is called the
muode.

The mini-bus has 18 occurrences.

1% is the mode.

Exercise A
1. This tally chart shows the number of children in a club who like certain games.

Copy and complete the table and from it, find the mode.
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Twenty-one boys made this tally chan to show the number of each flavour
sofl drink they had at the May Fair.

Flavour Tallies Mumber

Copy and complete the tally chart.
What 15 the mode?
What ean vou say about the favour that gives the mode?

Mow use pictures of corks so that | cork represents one boy
and make a pictograph to el the same story.
What ean you say about the mode?

The numbers represent the scores of 33 children in o Mothematics test

5 6 6
1 ] 5
7 5 9
5 10 4
¥

L =}
B0 LI DR =]
Wh E= o T I

L= - - T

4

(a) Show this on a tally chirt. Compare the scores and identify the mode.
(b) Use the information on the tally chart to make up a bar graph.
Shade the bars that shows the mode.

60
50
40
30

20

n

Red Blue Green Yellow  Pink

The graph above shows the favourite colours of a group of children.
From the information make up a tally chart.
Sny how many children were represented by 1 square on the bar graph.
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Study the tally chart below:

Mow draw a bar graph to show this information.
Use | unit to represent 4 persons.

REVIEW

1. The following scores were obained by 20 pupils in & test:
1 B 3 4, 8, T i, 5, 2
8 3 9 6 1 4 7. 7 8
(@) Make up a tally chari for the sgores above,
(B} Use the information on your lly chart o make a bar graph.
{c) What is the mode?
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UNIT 29 GEOMETRY

Congruency

What can you remember about line segments?

Let us work together.

Mark 2 points on your paper. Name them E and F eg. 3
Use your ruler. Draw a line to join the two points like this.

am

E F

How many straight lines can you draw from point E o point FT
We call a straight line between two end points a ling scgment.
We writc the name for a line segment like this EF
]lhlﬂdﬁuwﬁ

Exercise A
.  Look at these line scgments:

H
A L K

E G
\E‘ D
F

in) Fold o piece of paper.

(h] Plaoce the folded edge under ench line segment,

(¢} Mark off the end points,

Are there any two Hoe segments with the same length?

If o, name them,

If two line segments have the same length, they are equal and congruent.
The symbal = means is congruent to,
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2. Measure these line segments with a raler and record the measurements on a table.

i T -8 B — LC
E | e ¥ c4 e LD
K dem H ILE:TFE
Congruent Polygons and Angles
Leok at this:

Trace along the sides of the triangle ABC.

Cut it out and try to fit it on triangle ACD,

Does it fit exactly?

Then the two triangles are congruent,

Triangle ABC = Trinngle ACD.

Let us find out if there are congruent line segments and angles in these iriangles.
Examine and fit the cut out trinngle ABC again.

AB = CDand BC = AD

Therefore the angle B = angle D

Exercise B
Here are pairs of congruent triangles.
Complete the statements.

ki
H J
WHG = (@£ZH
{h) HE © 222G
{¢) GE (N ZE
[¢] E F K
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(d) £ NMT=
(e) £ MNT =
DL NTMS
Symmetry
Look at this:

Cut a rectangle this size. Fold it so that you obtain a line

scross the middle like the one above.

Do the two parts fil exactly on each other?

Are they congruent?

Fold 10 show two congruent parts in another wiy.

Trace nlong the line formed at each fold.

Lines like these which separate a shape so that the two parts contain
exactly the same images, are called lines of symmetry,

How many lines of symmetry are there on your rectangle?

Exercise C
I.  Ineach figure below, a line of symmetry and a part of a pattern are drawn.
Complete the pattern. The first is done for you.




2. Look at this design made by folding and cutting paper.
How many lines of symmetry are there?

5O
O
7 O

3. Now draw patterns with two, three and four lines of symmetry.

/{ﬂy
© 2
Z \

4.  Which of these show symmetry?

(a) f (b) '
(CH

REVIEW
I, Name the pairs of line segments that are congruent.
Measure to verify and record the lemgths.
c D Q R D
5 T A B X
4cm Jem
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2. ldentify and name the shapes that arc congruent.




UNIT 30 FRACTIONS

Reciprocals

Write the products o complete these:

m!sz=I:i
o
(d) 12 i ]

[g}IS!E—D

[1s)] - x 3 =1 (4] i ﬁ 5 =[]
S _E = —1 _ =

If the product of two numbers is equal 1o 1,
ench number is the reciprocal of the other,

1

|
S0 —=x9=|and 9= —=1
9 9

Therefore 9 is the reciprocal of % and

%iﬂh{:mcipmmlori

1. By what number would you multiply each of these to get | as an answer?

Exercise A
fa) 15 (b} 16
1
ie) Iu (N 51

2. Complete these:

i .
[nlllz“ll ]
fc}% x =1

x [1=1

i
(&) 20

{cy 28

|
(z) 32

{d) 95

3
(h) -y

) Cx L =

1 =
{-:nlI:IwT 1

al:.-_l'-.--
n 1 g1



3. Write the reciprocals of these:
1

]
@ 5 9, 3i, I8, T
s 2 1 4 6
® < = 7+, 3y, "
2 2 & 3 3
t:] Tl 4.1‘ I‘l‘ al ‘n
We can use reciprocals to do division.
Study these:
(W) 16 + 4=4 or 16 * %-4
(b) 18 + 3=6 of I8 * ;—-a
(c) 112-4=28 or 12 = %-za
Instead of dividing by a number, we can multiply by its reciprocal.
Exercise B
1.  Now try these
() 15+ 5= (b) 15 x %*El ©2+3=]
(d)81+9=[] (:]EI!%-I:I 42+ 6=

(g) 105+ =[] l’h}lﬁﬁk%-ﬂ (H124+4=[]

(Tndhid:mrmmh:hylﬁmmﬂﬂphrﬂn
number by the reciprocal of the fraction,

eg l-—::—-ll-4=-31

i
9+ —mQuig=72
E
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2. Dothese:

(a) 50 + ..;..-mxs-:m (b) 36 + .;_.. =
+ Low - . e B
{c) 20 > (d) 4 13 —-
@5+ t=___= D64+ L= =
La = 1. -
g 12 + : (h) 15 + 3
PR = - N -
W%+ te - peede .
Study this:
3.2
3 E
Wu:iuidiqhy-';'-

So we can multiply by the reciprocal of -_:—MB
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Study this:

1. :hl%

First we change the mixed number 10 an improper fraction

5

So S*I-}-S-T

Now § 4 3 §x 7
=3

2, 6% +8

Change the mixed numbers to improper fractions,
k¥

So u-}--s-

So 53;+lki_f—+s

Instead of dividing by §
we can multiply by the reciprocal of 8

4

3
-I?!"H _LI j-
- i 5

Exercise D
. Do ihese:
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Inverse Operations

Study these:

Lol ¥ = L
B i 24 24 3
= l:i
24 |
=T 80
g |

i

g

So -;- multiplied by -13'- ianunllu;—‘

i} di-.ridedby-?"— is equal to _E_.

Multiplying and dividing by the same nurmber brings us back 1o the number with
which we started,

Also, dividing and multiplying by the sume number brings us back 1o the number
with which we started.

We say that multiplication and division are inverse operations.

T 1 I T
So B — —— T —
g 3 5 3
A ST e o
2 3 3 r |
Exercise E
1. Write answers for these:
- O (i P S 1
O4p* it e L S Y -
B WS e T T
B oo el OIS S

150



7 ?-1-_.?._- 4 L-r
© % ¥ 027 *3

MNow look at this:

x is a number that we do not know, but which we can find.

We know that x x%nd%

Wenlmkm:rwlhnﬂ% +%x

lhaiis%+ %=x
s e
N N
U oy
EIL -y

therzfore

.r-|u
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Exercise F
I.  Find the missing letters in these dingrams.

n-.l l]T

4

P
&
n
il
|l

\_'/_'L )
z

u:-l-

mjn

o
|
n
sl
|.—

-
=
-

=
o |—

[
.|~|u-

+

|t =loe ov|~
i
e

»
]
]

#1&» | e

Now iry these:
Find the missing number in each case:

I’l-i I-‘—Il
wx3=5 ® Dx5= 5
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®) 7o 03 35
i o I:l - l 31— i} El = l
(e) 2 T3 (D 35 3
Order Of Operations
Study these:
1 el 1 3 B
(@) (3; x24+)+5¢ BT el s
This problem has brackets. After brackets we do ‘of” if this is in the
We always do what is in the brackets first. problem. “Of™ means o mualtiply. If there
are no brackets, do “of” first.
9 I [P B = 5
=iy =lgeges
<83 2 - 83 4 NG (0 Sl W )
_T+T ?x H = |= = = 7
6 2 1 k] F T |
= 1 - | J_ 8
=13 =& 2.5 el
=2Tt
We usually do Division before Multiplication.
Swudy these:
i 3 i i 1 5
fll E*TIIT ﬂ!] ]T "'l??‘?
I 4 I 1 I 9
o =I5 %y ®g
2 [ 2 i I 4 .. 8
nTr:[?::Tx? =]TxTx?
- A =33
s SR Bt ¥5
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1. Try these:
L . 3 L 5 3 I
(a) 15 g (b) 3+ ﬂ? () _1—ul'13—
2 s 3 1 B 1 1 3
{d]?"s' x r 3 J'ﬁ (ehd< ”IT ki 2% if) (?” T)" ry
F .0 1, a4 IS | 5 3 1
S ey Co B hy = & — = I= %=
(gll[ﬁ lﬂ] T (h) 5+ 3 5 (1 (4 2]

Exercise H
Problems (o solve:

I.  John bought 6 pieces of string. Each picce was 2% metres long.
How many metres of string did he buy?

2. Mr Dash spent 3 days repairing his car. Each day he worked for E-:T hours.
How many hours did he work altogether?

3. A l0=metre length of rope is cut into —;—- meire lengths.

How many pieces were obtamed?
I

4. Hluw mary pieces of board, length i0 mietres, can be cul from a longer
piece of 3 metres?

5. Auailor bought 12 metres of cloth, How many shirts can he make from this
cloth if each takes 15 metres?

6. Mr. Baksh has 45 chickens. If each chicken uses "E' kilogram of feed each
week, How much teed is needed for the chickens for a week ?

7. Mr Smith has a I'nnnut']% seres, IT 1 bag of fertiliser is used on —:- af an
acre. How many bags would he need for his farm?

8 Arecipe calls for I% cups of milk. How many cups of milk would you use fior
zi the recipe?



9. A fence is 20 metres long. If you start ait one end and put fence posts — mr.m:
apart, how many fence posts do you need?

10 1 think of a number, multiply it by _3-".1_ and the answer is 1-- . What is the number?

REVIEW

1.  Write the reciprocal of each
i LW 3. L i,
g’ 16" 8" SE L %4

2. Divide these numbers by multiplying by the reciprocals,
(a) 12 = 3 (b} 21 = 7 (c) 144 = 12

L. 3 S 3 .41
l:l'-‘}ﬁ'-? (e} 55 = |5 {f ?"'lm

3. Copy and complete:
@Wex[J=1 @23 x[d=1 ([ x33 =1
4. Find the value of:
@ (F+3) xS @73 x o3 @ Lof sty
5. Abutton m-iglm% gram. What will be the weight of 12 such buttons?
6. A man spent %ufhismmt:y in one shop and %uflhcmmaind:rinn second
shop. What fraction of his moncy was lefi?

7. Ithought of a number then multiplicd it by 4 , the answer was 10 .
What was the number?
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LET US LOOK BACK

| (a) Look st these:

Which are: - lincs; line segments;  points?

(b} Draw io show 2 of each:
horizontal lines; vertical lines; sloping lines; paralle] lines

2 (a) Find the congroent polygons:

{b) How many lines of symmetry can you find on cach?

EL*&
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3. Find the area of each;

4 cm

10 cm

4. The children of Class 5 discussed their preferences for soft drinks.
Each child marked a tally on their chart.
{a) Copy and complete the tally chart.

Orange THL THL 1]
Hanana THL 1
Grape Hn

Cherry THL 1111
Guava 111

(b) Use this information to make a - (i) pictograph; (i) block graph.

5. Use reciprocals.

Multiply to find the answers:

{a) 20 +

(d) 63+ o

|
b) 36 + ——
® &

(e) T2 + _;_
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6. Study the Venn diagram then answer the questions which follow:

Set A represents children who like ericket (C)
Set B represents children who like football (F)

(a)
(b)
{c)
(d)
(eh
n

How many children like both cricket and football?
How many children like neither cricket nor football?
— children like cricket alone?

—— children like foothall alone?

How many children make up the sample?

How many children do not like foothall”
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